COMBINED RESEARCH ASSISTANT IN VARIOUS SUBORDINATE
SERVICES EXAMINATION-2023

COMPUTER BASED TEST

PAPER - 1

GEOGRAPHY
(P.G.DEGREE STANDARD)
1. Gullies are deepened by down cutting of the water and converted into
Biler  Qemugss <fluermmd  yporssuubn B ifludtarser  @eueumry
WLrHOWEL ST

W Rivulets (B) Gullies
REOLGET i oflueTerhigar
(C) River (D) Divides
B8 /<2 Gflayser
(E) Answer not known
clen Qgflweldena

2.  Which is the highest waterfall of the World?
' 2 wHGaCw Ble e wywrear Breipss erg)? ’

y{ Angel falls (B) Yosemita falls
geped Bireipss) CurAiir BireSipss

(C) Roraima falls (D) Takkaku falls
Grrengor Bireipss Léanan Bieipss

(E) Answer not known
e Qg flwalcrene
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3. Assertion [A] :

gapm [A] :

Reason [R]:

styenrd [R] :

A river valley commonly narrow shape in the youthful
stage.

Qurgieurs YJHm UaTaTSSTEETETE Qerew Hlavewuld @ndw
aulg6lled @)(H&H@LD.

Pothole drilling is the effective mechanism of valley
deepening.

GLSGMLE|  eTaTug  UaTESTEME  lL(hSFIeuSHETeT
&ESSTE QFWHAPDWMEGLD.

M Both [A] and [R] are the true and [R] is a correct explanation

of [A]

[A] vpmid [R] @rem@w ef; [R] eremugy [A] @en sflwrer elersswmnEn
(B) Both [A] and [R] are the true but [R] is not a correct explanation of

[A]

[A] wpmid [R] @ram@w sf; <emed [R] erarug [A] @en sfwran efarésibd

DD

(C) [A] is true but [R] is false
[A] &l eyamed [R] seupreng
(D) [A] is false but [R] is true
[A] seuprangy <yamme [R] &

(E) Answer not known
cllenL Qzflwelerena
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4. Arrange the Karst Erosional land forms in their order of formation:
sawaomby  QrCsesddr  flssd Gsméd apod  ghHu@bd HosCsmhprisamer
auflensliu(BSgi5.

(1) Lapies
eomiSe

(2) Uvalas

2 _oUMeT

(3) Dolines
QLrenevesav
(4) Natu.ral Bridge
@uhers LmeLD
o0 1,324 B) 3,2, 4,1
© 1,2,38,4 D) 4,3,2,1

(E) - Answer not known
alenL Qg flwaelidrena

5. Which of the following landscapes formed by glacier erosion?
Epsrgnid ahs HasCsmppn uellurpsaiiar <ifluarnmd Carammielg ?

(A) Canyon M Cirque
giis

Qserwmes Qa&TUUeT

(C) Uvalas - (D) Fiords

2 _GUEITEL Qw6

(E) Answer not known
cen Qs Mwelcrenco
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6. refers that the surface stream which disappears in lime
stone formation through a sink hole.
samemmoy urep WrGgssdled Cupuguy BCrTLmsdr o MEhe gmarse epald
weppg Gum@b Qurpg @eueury SMuLILGEHDS.
¥ Blind valley (B) Moraines
GSBLB ueTeTs TS, Qurenyerser
(C) Loess (D) Poljies
Geomuwieiv Gumévgd)
(E) Answer not known
elen Gz Mlwaeidenew
7. The Accumulations of Sands between Obstacles are called
SDL&@H5E @eLwle) wawmed Geliluy @eueumm A@WPSSLIUHEDS.
(A) Sand shadows Sand drift
LOGRTE LOGNDEY wewted HL_(H
(C) Sand dunes (D) Sand sheet
AT (Gem ‘eanted LyLiy
(E) Answer not known
elen GAsMwafcrenew
8. The number of sea waves passing through a certain point per unit time is

called as
20 Sog Cprgdde v SHUAlL ydelow sLsEn sid  maseier
CTETERT S GTEHTET GTeTM HAMPSSLILHEDS) ?

(A) Wave length

e Ferbd

M Wave frequency

ML Jemveuflens

(E) Answer not known
cllenL QzMwaeldrena

Geography

(B) Wave period

DML &TELD

(D) Wave velocity
3jma FansGousd



9. A Triangulated faceted peak formed due to recession and intersection of
three or more cirques are called

ey iag SisHE CuhulL Figsaldar Gempsie) LHHWL @@ameier sTyaILNs

o (Heuman (Wp&CaTean (1p& 2 &8l TN SAMPEHILHEDSI.
(A) Yardangs W Horn

WL &) QUD ITIT 60T
(C) Inselbugs (D) Gara

@enguis o MIJIT

(E) Answer not known
ev Qg flweiidena
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10. Which of the following statements are true about the ‘Davis cycle of
Fluvial Erosion’?

sflwrer elenLeww QarRsgierer cuamalamig CsibAs®H ;

Spaumy  Crell-er e Bllar  ofluy  Qewdwen  embo/amboisaie
2 anewwrarmeisamer CsrbbswH

(1) The Erosion starts and the whole cycle passes through the stages of
youth, mature and old.

@O Hfler <fluy Qewdwep, <Wrbhss Gar WueaugwTs Gerhaew,
wéiblene wHmIL apuy Hleve YPHw eparm Howsmer sLs8Hng).

(i1). Geomorphic forms are an expression of the phase and rate. of
upliftment in relation to the rate of degradation.

Quiews Erfleder As5CsTH GsriiyeLw, o6s 2 wiey Hlenaoulleir
deweurGL yeluypelwed elig eumkisar.

(ii1) Landscape is a function of structure, process and stage(Time)
Siewuy,  Cdewdwep LOHMIL  STOSE LD  pHuaudpdler QewourGL
Blooviuriy LEL.

(1) and (i11) only (B) (1) only
(1) womw (1i1) LR (1) b @b
(C) (1) and (iii) only (D) () and (ii) only
(11) wHmb (1il) wr (1) womw (A1) L Hb

(E) Answer not known
edlen GsMwelerenen
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11. The landform tombolo is related with
QLmbCurGer ergid HawsCsmdmid 2 et QgmiyerLwg.

W Coastal depositional land forms

12.

(B)

(©)

D)

(E)

Smasaiar Lgelssomd Csrarmn HlosCsmdmd

Coastal erosional land forms
s@asaiear ofiuQeanmed Cararmib HlosCsmHmw

Glacial depositional land forms
uaflumpdler Lgelgsamd Corammib HlosGCsTHobd

Glacial erosional land forms
uaflurhder ofvamed Cararmn HlaosCsmHobd

Answer not known

MerL Gsflueldeae

Match the fall line with the river:
eSp&Ed LGHPW BB YPMISEHLET LLMHSS6D:

()
(b)
(©
(d)

Chachai 1. Svara west river
F&mi geumym CuhHE& <Bm
Kevti 2. Karamnasha river
Gaeuy STBHAFT )
Devdari 3. Bihar river

Cgeug il Senmir <pm

Telhar kund 4. Mahana river
Qg TG e LOSTETT DM

@ ® © @

o3 4 2 1

(B)
©)
D)

(E)

1 3 4 2
2 1 3 4
4 2 1 3

Answer not known
enL Qg flwelcrenc
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13. Frost weathering of hard rocks at the surface leads to accumulation of
large angular fragments including boulders called as
sgar utapuler uall 2 @psd erallow Hmgeilar epow GCupurinde @edluw
Lo Gsra g@THSET HHID LTmD fomsmar @eeTn S@WsHaCnmib.

(A) The ice wedging M Felsenmeer
e L@ QuérgenSir

(C) Talus (D) Aigulles
LG BGOT6

(E) Answer not known
elen GsMwelerene

14. Which one of the following is not an example of Oceanic Intraplate
Volcanism?
ereumaiareupdled  erg  SL@IEGET, s (Hdsallan_Cu 2 (heum@Gb  erflweneud e
T(HSEIESTL(H ebev
(A) Galapagos in Pacific Ocean
udlbs QursL el sCUTSTEL

(B) Cunha in the Atlantic Ocean

SiLrargs umhisLald Gearanm
(ﬂ{ The East African rift system

fs@ < UNss Geray UGTETSSTE S SHemLILY
(D) Mauritus in the Indian Ocean

QiHwun Quensad Qurilafwe

(E) Answer not known
clen QgMwelereney

Geography 10



15.

16.

17.

Which of the following do not provide strong evidence to continental drift?
QemeumeuameudmIeT 6rgl SerT. QL UGQUWTE&@ cugiapl HIb TETDTS @oee ?

(A) Submarine deposits (B) Paleo magnetism
SLU Lg6|SHaT Qg Teennd &MbssS6meno
W Differential gravitational force(D) Fossils
wryuce yeluiruy elens 2 Rl ugeyser

(E) Answer not known
clen GsMwaeidwena

The process of breaking and bending of the rocks of the entire lithosphere
including the crust is called as . .

CuCer® orur @y HesGasrer HEHD uTODEMET  GUMETSS) 2 L5
QABTmIsEWL Qawapemn @Geieimy AdPSSUUHEDS) ?

(A) Plutonic Activity M Tectonic Activity
y@pLLreis Qewour@ser sL(H eleng GeweumpHsar
(C) Volcanic Activity (D) Earthquake
erflwener QewourhHaser yelwreyger

(E) Answer not known
e Qgflwalerenc

“Africa, South America, Antartica, Australia and Peninsular India formed
the major Southern Block” known as

“onifsaT, Qser 2QwAssT, SidTLrigst, HadCralwr wpmb Sushu GbHwm
< fume  Qumburamw  QsHE uGdow o BaNsSug” eTeug ey
SDPESILHE DS

(A) Laurasia (B) Pangaea
onGréwm urestGs
Gondwana land (D) Panthalasa
Camam@eurert Hleod LITETS TG

(E) Answer not known
elenL Qgflwelcrene
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18. The contact zone of the crust and mantle is called
yeller CuGar®@ wHmbd Qe  GéHar  Qsriiy weTLob  ereueuTm

dP&SULHS DG

(A) Gutenburg discontinuity M Mohorovicic discontinuity
GLLeam@urs @eaGeue QurCanrCrralfls @enLQeuaf]

(C) Lehman discontinuity (D) Conrad discontinuity
Qevamwen @en Geuaf srenyrl @enGeuafl

(E) Answer not known
elen_ GQsfwaeldene

19. The 1s responsible for Earth’s magnetic field.
|€LL15Iu£ﬂarr SMHSLI qeug,‘e_ﬂm@ STTERTLOMGLD.
(A) Mantle (B) Crust
yedll Gumieneu Hedl CuGBan@
M Outer core (D) Inner core
yell Qeuafllsam Hedl 2 &

(E) Answer not known
eflen Qsflwefdene
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20. Which one of the following would have occurred if earth’s axis of rotation
were perpendicular to earth’s orbital plane?

ylufer s @iFs Lbller sHpLLT®S satsAn@ Ceh@Gssns QmbE(HSSTD,
YetreumeuareudmiaT aTg Hlaphdlmé@ b ?

(A) There would be no water on earth
yeilulile it QmbHBSsTs).
(B) There would be no moon for earth
Lellég Hloay QbbHmssTs).
There would be no seasonal variation at a given location on earth
yeluwlied @muliseiid Lmes LIMUTH QHESTS).
(D) There Would be equal duratlon of seasons on earth
HeNuN6 eTeevm Li(ThH6u mhig(@mhLD @CSU ST emeiled @@‘r_r,ﬁ@a;@m

(E) Answer not known
clen QgMwelderan
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21. Choose the wrong matches type; which of the following are incorrectly
paired?
sauprenr  Qumrmsshsmar Coiblshssd; Speumbd Qurmsshseid  aTameu
SEUDTETENG ?

(1) POTET - Differential Evapo transpiration

POTET - aosle frrelwunse

(1) DEFIC - Deficit — Soil water storage
DEFIC - @epeaurear Siver Calluy

(111) PRECIP — The particles of liquid water or ice

PRECIP - drau pir sidveg uafssiy sisarser

(iv) STRGE - Change in soil moisture storage
STRGE -  mywewr Gallunden wrhmn
(1) and (11) are incorrect (B) (1) and (111) are incorrect
(1) womw (i1) seupreTeeu (1) wpyw (111) seupTaTEeu
(C) (i11) and (iv) are incorrect (D) (iv) and (1) are incorrect
(111) wHmb (V) seupTaTeel (1v) wpmb (1) seupraree

(E) Answer not known
clenL Qgflwaferena

Geography 14



22. Choose the right answer among type; which of the following statement/s

are true about ‘Mariculutre’?
sflurer edeLwu QsTHsgder auamsulaBig Coibash. sLauiifl eerriy uHHlw
Qemeupd Qemp@om_fe erg sfMwrearg) 2

(i) Organisms that are chose for Mariculture should be both Marine and
Fresh water products.

panafi 2 W@Aser wHpL sLauifisma CsiblsGss eariuGs ‘sLguuif
QUETITLILY B(&LD.
(i) Under Mariculture, Algae are Grown and sold as luxury food.

‘SLeudfl  euertuQd’, urflsdt eaTTESLULH 2 WAST 2@ UESWNTS

Ap&asiubhEmg).

(iii) Many Gulf countries launched an important and ambitious program
of mariculture with certain selected type of fishes like Salmon, Tuna,
Etc.,

L aueer@Lm BrHser, @@m wsdu @eldlu gliwors, ‘GLeudfl eueriiiy’
AL sz Sfwsuu@sd Csibds0ss Bem  @@BSETTET  FTOLOET, &l

Gureny Ldeumssmar 2 Huss dsldlaar.

(iv) Organisms chosen for Mariculture should be hardy and resistant to

disease and parasites.
‘sLeuifl euemiiy S sHd syanorar WHYID Grrusar, gU Oamesi Gumen
srHEsme THICHIEGD setamwwder 2 ulflamisamar Cairb Qg Hi&Sl erperit.

(A) (@) only ‘8{ (1) and (i11) only
(1) b (1) wHmiw (111) LWL ED
(C) (i) and (ii) only (D) (iii) and (iv) only
(1) whmyb (11) L HW (iii) wpmbd (1V) LLEWL

(E) Answer not known
Men Gzfweldeme
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23. Which of the following have oceans accounts 55 percent of the World’s
coral reefs?

SpssanL aps spsdlrwrang o wder 55 s5elldls LaeTiILTMDS@ET Qsma (B eTers,.

W Pacific Ocean (B) Indian Ocean
udl9é upsHTn @pslwts Qumris e
(C) Atlantic Ocean (D) Red Sea
L QTETIGE FUPSHTLD QerigLd

(E) Answer not known
eflen QsMweldene

- 24. The difference in coral reef. between Persian Gulf and Gulf of Aquaba is

due to the cold north-westerly wind.
uTTEs QuUEETEGLTEADGL STUT euaaT@LTedlhE b Qe Cu veuer uTepsafe
Ceugum( er@d @aflit auCon@ srHm eleausTed @M.
(A) Loo (B) Chinook
N Hengyns
@’ Shamal (D) Foehn
QULOTE sGuTaD 6t

(E) Answer not known
elen GzNweldene
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25. Match List I with List II correctly and select your answer using the codes

given below:

utgwe I o urgwe I o Lér Qur@psd, sflwrear el ews CarbEs®.

List I (Pelgic Deposits)
utgwed I (gpsrd Cem)
(a) Pteropod Ooze

UG CrrCuml Cemy

(b) Globigerina Ooze
&CermAQ@syfenm Gam

(c) Radiolarian Ooze
CrgCur erflwer Cam

(d) Diatom Ooze

eLwrl b Cam

@ ® (@ (@
@ 4 3 1 2
@s 4+ 2 1
© 4 1 2 3
1 3 4 2

(E) Answer not known
ev Qg fwaldwenaw

17

List IT (Occurrence of Deposits)
utgwe IT (sresrtiu@n @Lmisar)
High latitudes in both the
hemispheres

@Quran® orsCararhmsaiigid 2w
9 sCrensser

Tropical regions of Pacific
uéls Qeutiu waETL® LGS ser

Western and Eastern Pacific
Cuhs ioﬁ)gmb AL LSIGE

Warm and temperate water of
Atlantic

L mesTiq.&dl e Qeutiu HMID
BlsQeutiu Bir

Geography
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26. Choose the right matches among type:
Speueuareupmier erg efluneg Qummbwerersy:

1. Guinea Current -
Aeflur FCrmL1b

2. Labrator Current -

murmt SGymw

3. Kuroshio Current -
&CrmafCuimr FCymLb

4. Peru. Current -

Qu BCymLwb

(A) 1 and 3 are correct
1 vpmd 3 sNwnerg
¢ 2 and 3 are correct
2 wpmid 3 sfwrerg

(E) Answer not known
ellen Qsfwelcrene

Geography

Artic Ocean

<Tgs Curmy

North Atlantic Ocean
UL L emargds Guymgfl
North Pacific Ocean
au udl9s Cupmy

Atlantic Ocean.
S erarrgds Curmy

(B) 1 and 2 are correct
1 wpmid 2 sflwreng

(D) 3 and 4 are correct
3 wHmbd 4 sflwrerg

18



27. Match the following in correct pair:
Qereumueareupenn 2 flluauhCorh Qaarss:

(a) Wave crest
D W& (H

(b) Wave trough
DDV FTLHLPEET

(c) Wave length
Sieme Barid

(d) Wave steepness
e sfay

@ ® ©
@A 2 3 1

» 2 3 4
Cc 1 2 3

M 4 3 2

(E) Answer not known
eler Qzflwefdena

R

1.

Ratio of wave height and wave length
e 2wrb wHmb Barsdler el
Highest part of wave

semoufer 2 wflu ugs

Valley between wave crest

SO TIguden LeTaTLd

Horizontal distance of wave crest
SDOUPSL g6 SlenL bl L YLD

19 Geography
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28. Consider the following statement about Oceanic basins. Which of the

statements below is/are incorrect?
Gereu@pd dempOpriisemer souallsg Seupmidr ahs GQemHOPTLisd seuprears)
CTRITUIS GG &TEHTS.

(1) Cape verde basin extends between 10° — 38°N
Geu Gy upems 10° — 38°u urelyererg

(2) Argentina basin situated between 45° — 60°N
SifCgemngemm u@es 45° — 60°a urelluyererg

3) Ca.pe basin is situated between 28° —.41°S
G Las 28° — 41°Q5 Lgeludrars

(4) Brazilian basin extends between at Equator 0° to 30°S

WGréle u@@s YwsHu Cravsuledmibg 0° — 30°Qs eueny Lgeduyererg

(A) land?2 (B) 3 and 4

1 wpmw 2 3 whmb 4
W 2 only (D) 3 only

2 b @ 3 L (Hb

(E) Answer not known
cllen QgMwelevreney
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29. Match the Tides and its forces:
RSHIGET HMD DF6 cHlenFaHer:

(1) Diurnal tides - Very exceptional
Hanafl amiser WHaayb ellfellewssmeang
(2) Spring tides - Due to the revolution of the moon
and its position
CUFHS QRSMBIGET spflrafen  GHH wLHOL e Bl
SMERTLO TS
(3) Monthly tides - Recur once a fortnight due to the
revolution of moon and its declination
WOMSTHET EmIs6T Pleosller  spHdl  wHoL  Ager  sfley
SMTETONG UFHahgl BTL&Eh&E R(HP®D
Bawd Blspey
(4) Quarter diurnal tides — Recur at intervals of 24% hours
sroLES Hatef @sw 243 wafl Cpy @erQauafded Bam@id
Haww Hspey

@ M (@© @
7 A 2

1
® 2 4 3 1
C© 3 4 1 2
M 4 1 2 3

(E) Answer not known
clenL Qgflualcrene
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30. The most common salt in the ocean is
Cuymfullen 2 196 Wseyb Qurgieuns srariiuBHeug

¥ Sodium chloride (B) Calcium chloride
Cemqwd &Cerreny(H srodwb GGarreny(

(C) Calcium sulphate (D) Sodium sulphate
sredlwbd sCGuL Cemgwib goCuL

(E) Answer not known
clen GQgsMwalcrenew
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31. Consider the following statement and find out which is/are the correct?

EpQsrRsgieer smpap smsHd Qsram® CsrhssdramaniadBbg g/ cao

slluneareney eram sambhidliy ;

“The Equatorial zone of the ocean water is of relatively low salinity
ranging between 34%o and 36%. due to”;

“GeulenL s Cem@u ugdular sLdfi wHp LGHCUTEH RUbGmsd®, G®DHS
2 euirtiQuinrer 34%o s 36%0 - AsraETHETaTSHSTET GTTERTD’;
() Influx of melt water from polar areas
el UGHWA®mHS 2B bs sVEGL Hi
(i) Excessive rainfall - ’
s s wearpts Qumfley
(iii) Less evaporation because of the higher relative humidity
e s @uy Friugsamd ghubbd Ge®paeumer Srrellumged

(iv) Degree of mixing by surface and subsurface currents
Cuhurliy wHmL SPUTLY SL® By Lmiseflen souy S0

(A) (1) and (11) are correct (B) (i1) and (iv) are correct
(1) wpmid (11) sflurereey (i1) wpmyw (1v) sfluraree
(i1) and (ii1) are correct (D) (iii) and (1v) are correct
(i) wHmb (111) slurerame (ii1) wpmib (1v) sfurarereu

(E) Answer not known
e Ggflwaelcwene
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32. The most abundant element in sea water is
gL piled e fswns o drer saflob

(A) Magnesium chloride (B) Magnesium sulphate
wéafadlub GCerrear(@ wéatadwb soGUL

M Sodium chloride (D) Calcium carbonatic
Gemquid &Cerreny(h) sreafwbd smiuCer

(E) Answer not known
ellen Qs flwecdrenew

33. The salinity of the ocean prevails at 18°S — 30°S is
18°Qs — 30°Qs s QyGsssda Bleoa|b-2 LiLygsemeamwwnears
(A) 33— 34%o (B) 34 — 35%0
(C) 30— 31% #7735 36%

(E) Answer not known
ellen Qs Mweldene

34. Tonga Deep sea trench is found in
CLriusr e o s sraTiL@b QupmsLé

(A) Atlantic ocean (B) Arctic ocean
DL oramigd QumhisL e 2iTgé QumhRsL6
% Pacific ocean (D) Indian ocean
us9s QumrisL 6 @bt QumrisLe

(E) Answer not known
ellen QgMNweldena
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35.

36.

Which of the following is not a marginal sea in the Atlantic Ocean?
Speu(meuaeudMIGT 68 L ramgd QumrisLaer ellafibls sLpaey @Qdame ?

(A) Caribbean sea (B) Gulf of Mexico
sfillwer s QusedIGar cuanem@LT
(C) Mediterranean sea M Yellow sea
WSHW FDTESLD DEHFET HL_6)

(E) Answer not known
clenL Qg flwelcrene

The bathymetric charts published by the founder
<psLd ursHAwl MNé o Leumarerw eflearésliuLsag Qeuetlud L iPlediwed st

(A) Sir Wyville Thompson (B) Stewart
&ir. eneulilevell gmbaenr ev(heu(h

(C) A.Behm @ M.F. Maury
A. Quib M.F. Querf

(E) Answer not known
e QgMwelcrend
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37. Arrange the following in sequence:
Yeteu(meuareupenm cuflensuily er(PgIs.

(1) Ocean Trenches
HL Sisflse

(2) Sub marine hills
DRSO Ge D)

(3) Continental rise
e er(psd

(4) Continental platforms

serL. CuenL
@A 1,2,3,4 B) 3,4,2,1
© 2,4,3,1 gpo’ 4,23, 1

(E) Answer not known
cllenL Qgflwelerene
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38. Arrange the oceans in descending order as of their depth.

39.

Spsrapib  supsdrmsmer sdar SglueLuisn Qo aflemsd sflurs
(PG!S
(A) Pacific — Indian — Arctic — Atlantic
ud9s - QBHweT - YTgd - OIS
(B) Pacific — Atlantic — Arctic — Indian
ud9s - Sl orarys - ifgs - QbSwen
(C) Pacific — Indian — Atlantic — Arctic
uélGs - @bSHwen - JLraTgd - Mg
# Pacific - Atlantic — Indian — Arctic
 udhs - Slonargs - @bSwer - s
(E) Answer not known
Mev GsMwaeldere
Telegraphic plateau is a region of
QALalsflymis SLyblwnearg SREsamL aaem @ LGSHWTE Jambgiareng) ?
(A) Pacific ocean M North Atlantic ocean
uéls QumrhsL e QUL L Tamigd CUHRISL D
(C) Indian ocean (D) Arctic ocean
@pHw QuEprsL e <9 Mgé6 QUBHBRISLE
(E) Answer not known
Mer GsMweldrere
27 Geography
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40. Match List I with List II correctly and select your answer using the codes
given below.

uigqwe Ig uiqued I o ar Qurmsd, &Cp Qer@ssuuc Gerer @HluSGsmars
dsrer® sflwrer ellenLemws CoibOsE.

List I (Ocean deeps) List IT (Location)
utgwed I (psie ugdser) ulgwe II (eiemwedLib)
(a) dJava Trench 1. East Indian Ocean
oTeuT 5L psE @BHuL QumRsLD
(b) Tizard Trench 2. South Atlantic Ocean
g T s Qgen S ramgd QuBRsL D
(¢) Mariana Trench 3. North Pacific Ocean
wilwurerm s . e ufl9s QuEprRsLE
(d) Aldrich Trench 4. Central South Pacific
PO ME &0 wsSHw Qger LAGG QuprisL D

(@ ®) (@ (@
7! 2 3

B 1 2 4
©) 1 4 3
D) 1 3 4

(E) Answer not known
e Qsflueldeme

DN DN W o

41. Underwater mounds with central cores of ice are called

vellésquilen mwws smasmas Carar Bfler &b 2 6rer CuH&ET — eTeoT )
S@W&sUILIHSeTnen.
(A) Micro continents M Pingos
TRIGHOT & 6U0T L& & 6iT WaCsréser
(C) Guyets (D) Sea knolls
GSWTL&aT sl @earm (Sea knolls)

(E) Answer not known
eflenL. QzsMweldrene
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42. Which one of the following is known as First Coastal Economic corridor in
the country?
GemeumUTEUDMIET  6ThS  STHEMID B gen Ppsd sLpasrGury Gumrmarrgry
SmpeurTng PMwutiuBSng) 2

(A) Kochi —  Coimbatore Industrial Corridor
Qar&d Camubysgnr Qsminh srpeumyd

(B) Cochin —  Beypore Industrial Corridor
Qangdlen Cuuiyr Agmfhn sTpeummd

(C) Amirstar -  Kolkata Industrial Corridor
S el Qaroassm Qgmflh srpeunyd

M Vizag - Chennai In.dustrial Corridor.
MEUSTE Qaerenen QamflH STpeumyd

(E) Answer not known
clen @sMlweldere

43. Which is the major trade block of Gulf countries?
auaar@gLm prphsellen psHw euisss Qsm@d wrg ?

(A) LAFTA (B) ASEAN
g OPEC (D) SAPTA

(E) Answer not known
e Qg flualcene

44, ———is the World’s longest railway line.
aarug 2 odler s Berwrear @ruiwCGeu @mwUyurms.

(A) Canadian Pacific Railway (B) Australian Continental Railway

sangwer-udlds @ruilaGeu < Crellw semtb @ruilerGeu
(C) The Union Pacific Railway % Trans — Siberian Railway
@&Hw ua9E @ruileGeu rrerev - evsiflwenr @ruiaGeu

(E) Answer not known
cllen Gsflweldwere
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45. What 1s Belfast famous for?
QueLUTEvL TEMH @ U TeTg) ?

(A) Agricultural machinery M Ship-building industry
elleugmw @uibSrriser SLU® sL(Hb Qzme

(C) Aeroplanes manufacturing (D) Cotton textiles |
elwrariser 2 HusH umSS mearf

(E) Answer not known
eden GsMwaeldenew

46. The manufacturer of electrical machinery and appliances begans only

after : : : :

Bler @Qupdlgimser wpmd 2 ursmsd surluy @d amLsHDHE ety
swrilésiul L g.

(A) 1680 (B) 1780

#7 1880 (D) 1980

(E) Answer not known
cdenL Qg flweleena
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4'7. Match the following:

QumpE g

Coal depositional area Important Coal fields

Bossf ugub u@d w&iwu Hlossil euwwser
Ul gued I ugwed IT

(a) Damodhar Valley 1. Heera, Buchwara, Brahmani
sTGLISIT LIETETSSTES, afym, yseurgr, Gymoent]

(b) Chattisgarh 2. Raniganj, Karanpura, Ramkar
FLIg GUSIT @renll&@hs, sremrm, FrbST

(¢) Rajmahal 3. Thulhara, Bench valley, Sonata
TSRS giosmym, Queng LeTeTSSTEE, GerarmiLm

(d) Satpura . .4. Bunsur, Ramcola, Kuroshiya .
ST uaner, grnCGsren, GGrradwm

@ ® © @
A 1 3 4

2 4 1

© 4 2 3
M 3 1 2

(E) Answer not known
Mev Qzflweildere

NN UV N
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48. Match the following:
sfluns Qummsas)s.

(a) Iron ore 1. Weipa
B BbUSSTE eneuLIum

(b) Copper 2. Colorodo
STOITLD QasreoogrGLm

(¢) Bauxite 3. Pilbora
UTGenaL Geoumgm

(d) Uranium 4. Chuqui Camata
wGreflwib F&EGwriLm

@ ® © @
A 4 3 1 2
B) 2 1 3 4
<) 3 1 2 4
2

&3 4 1

(E) Answer not known
ellen_ Qs flweNéenew
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49. Consider the following statements about Volga Industrial District and
Select the correct option:

Caurdvsr  Qsmogiop @wwd  upflu  SpsFE@TL SpmIs®ET  YTTUGS)
sflurareuperns Csib0shH &s.

(1) It is situated along the Volga and Kama river
@& Ceaurdar wHHID sTLOT BHESMTID H@LHSIETETS).
(1) It grew rapidly during World War II
Qs QreaLnd 2 wsuiCurflar Gurg <ifs euetiédluemLbsg

(i11) It is situated along the Volga and Kasai river
Qg Caurdam wHMD &M BHES@TUEID SADLHEETETS).

¥ () and (ii) only (B) (i) and (iii) only

(1) wHmidp (11) b (1) wHmb (111) L H
(C) (i) and (iii) only (D) (iii) only

(i) wpp (i) wr G (iii) wr @

(E) Answer not known
clenL Qgflwalerend
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50. Assertion [A] : The optimum temperature for wheat during its growing
period is around 60°F.

gapm [A] : Gsrgleow euermd srsdd Csameauliu@b 2s&bhs Qeutiubame
60°F.
Reason [R] : Winter temperature affect the type of wheat grown.
smyewd [R] 1 Gamgieow euetiueney GeflT QeutiuBlene LTHéHemmgy.
(A) Both [A] and [R] are correct and [R] is the correct explanation
of [A]

[A] wppid [R] &M, [R] eremrug [A]lWen sfwrar efaréasid

W Both [A] and [R] are correct and [R] is not correct explanation of

[A] womib [R] &M [R] ererug [A] e sflwuner eferéswae
(C) Only [A] 1s correct

[A] b @w #f
(D) Only [R] is correct

[R] v &M

(E) Answer not known
cdlen QsMwelerenew

51. Which of the following reasons is not a reason for the tracts of Uttar
Pradesh and Punjab to become a Culturable waste?

Geneumaameuppiat arg 2 5HnArGsed wHmL ugsTAar Haviu@dse ‘Limpmer
2 oy FlOmsT eushHE Sed @dama

(A) Faulty agricultural practices (B) Deficiencies in soil and erosion
seuprar cHleuFTw HenL (LPEDSET LT (GOOUTHSET HMID Syl

M Land reclamation schemes (D) Improper water management
Bl ys L msar seupmar Bir Cemeamenwo

(E) Answer not known
allenL Qgflwaelerene
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52. In tropic and sub tropic regions, the average temperature needed during

53.

the growing season for paddy cultivation

Siwer wHHb 2 U Qe ware ugdsaied Apd LT eetmd Curg Csmaliu@b
Qeutiublene

#0 20°C-27°C (B) 15°C — 21°C

(C) 11°C-22°C (D) 29°C - 35°C

(E) Answer not known
Mev QgNweldena

Diversified cropping system in subsistence agriculture system is governed
by

GemaureuarelpBled eumpaurgmy efleusmu papuilld vaTPsUUESSUILILL uudli (pevm
ereueurn HicudlésiiuGEng

(1) Local demands

o et Garfléemsser
(2) Local resource base

2 eI GUET QLSTTBISGET
(3) Market forces

shanguden s&dlae

(4) Technological knowledge
QAgmfle mu iy

(1), (2) and (3) are correct (B) (1), (2) and (4) are correct

(1), (2) vpmd (3) sflurareeu (1), (2) wpmid (4) sNwrareeu
(C) (2), (3) and (4) are correct (D) (1), (3) and (4) are correct
(2), (3) vy (4) sNwraTeey (1), (3) wpmid (4) sflwurarene

(E) Answer not known
MevL Qgfweicrenen
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54. Where in India is Pearl Fishery developed?
Qrdwreile amGs sz Beamny eueriédlumLpbgiaterg ?

(A) Kerala (B) Andhra Pradesh
Gaiyerm < bST0 ArCsem

(C) West Bengal @ Tamilnadu
Cuh@ eumismerd SBIDHTEH

(E) Answer not known
eflen QgMwaelldene

55. Match the following:
sfluns QuTBSES :

(a) Paddy 1. Sandy soil

Qped LDGRTE) LDGHT
(b) Wheat 2. Podzolic Alluvium
Cangienwo UM &medld eUERTL 6 LoasT
(c) Coffee 3. Chernozem
&m4l &Mge et
(d) Groundnut 4. Terra roxa
Hloss e Qugpréevr

@ ® ( (@
P2 3 4 1
B) 3 2 4 1
C) 1 3 2 4
D) 4 3 2 1

(E) Answer not known
elen QgfNweldena

Geography 36



56. Match the following type and select the correct answer using the code:

57.

&2 4 1

Sparamibd GMuit e vweaTuBisd slurareubean QUTHSSIS.

(a) Cotton 1. Braazil
umSS) YCréled

(b) Olive oil 2. China
pedleu < ulléd Eaom

(¢) Coffee 3. United States
smA o&HW BT seT

(d) Sorghum 4. Spain
Gemerid avQuullesr

(@ b @ @
@A 1 2 4 '

©) 3 1 2
D) 4 1 3

(E) Answer not known
clenL Qg flwaelcrene

N B W W

The variety of Coffee, largely grown in India
@pHwureler sifswrs amamellsstu@n smler cums

(A) Old Chicks # Arabica
uepw sl <Crllam

(C) Coorgs (D) Kents
G160 Q&eL_6iv

(E) Answer not known
e Qgflweldena
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58. The basic objective of National Forest Policy of 1986 was
1986 v e Csflwu cuand Qamerensulen <igliumL Crrésh
(A) To promote social forestry
FP5S STHSHMET 26185&H6 550

(B) To commercialise forestry
GUATSGIMDENI GUERTISLOWILDTESE

% To ensure ecological balance
Gwellwe swflaowmwu 2 nd Qaugen

(D) To restrict public involvement in forest policy
auarsdsratansuier Qurgiwsseflenr FHUTL®LS sUHULBHSSSD

(E) Answer not known
" e Gsfwelevenew
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59. Consider the following statements:
EpssaTL ursSwnisemer seuef.

Assertion [A]

spm [A]

Reason [R]

Merssd [R]

Bihar and West Bengal states have very high density of
population in India.

@bdwurailedr Bls s waser isd Uasri wHmbd CuhE eumismer
wrhlom&se Qarar(heararg.

These two states are located in fertile Ganga plains and
have high natural population growth in India.

@euellp  wrhomseErd  shems  Fwbeuaf u@Gdsafle

SimwhgaarsTd, QbHureien s wiseT gres euaTTElaw
Qamesr(HeTerg.

Select the correct answer:
sflumen allewLemws Coibas®.

M Both [A] and [R] are true and [R] is the correct explanation

of [A]

[A] wpmid [R] @ran@w &M, Cuaub [R] eretug [A] elpg sflurer elerésnd
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A]
[A] womd [R] @renw &f, Cogb [R] eawg [A] Abg sfwumer

N eTEHEH L

(C) [A] is true, but [R] is false
[A] sf <pamméd [R] seum

(D) [A] 1s false, but [R] 1s true
[A] seum, amméd [R] &

(E) Answer not known
clen GQsMwaelwene
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60. Match the following as given statement Countries and their urban
population threshold as follows:
88y Gem@ssuul perar smsHer gLl wld Geareumeuaeaupan CUTHSSS.
BTH&EHL Seubdlen BaTLD WEsET GgTens cuybyb SCY sruLLHerers).

Countries Population in Numbers
Br(HSET &S CgTans eramanilsamaulled
(a) Canada 1. 1500
SeTLIT 1500
(b) Columbia 2. 1000
QsrowbiQur 1000
(¢) Arjentina 3. 2500
© ATEIggeTig GTT 2500
(d) America 4. 2000
2Qwhégsm 2000
@ ® @© @
A 3 2 1 4
2 1 4 3
< 4 3 2 1
D) 1 4 3 2

(E) Answer not known
clenL Qaflwelerene

61. Rank size rule was developed by
sreuflens sjatey eild ereiuigy
(A) Mumford (B) Rostow
wwCumT@H TTGVL6U
(C) Wulman % G.K. Zipf
2 Gwer 89.Cs. adlssl
(E) Answer not known
sllenL Qgflwelerena
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62. CBD refers to

8.9, eremug)

(A) Central Business Development
W euanila eueTigs

(B) Central Beauro of Delhi
enw QLevedl eul L b

M Central Business District
W euenfila wreul L b

(D) Central Business Distribution
LW GUEDTI& LITEU6

(E) -Answer not known
e Qgflwelerene
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63. Choose the right match among the type.

Spsramucupdad sflurer Quimsssms CaipQs[HéseyL.

(1) Rank Size Rule - August Losch
sreuflens ierey 64 DY SV Qe
(2) Economic landscape - G.K. Zipf
Qummernsmy Hleeuenoliy &.Ca. gl
(3) Primate city - Mark Jefferson
WPSETMLD B&TLD s Qeguiige
(4) The law of retail gravitation = — W.J. Reilly
Sloowern ity 94 L9leTy,. Q. Qpuied
(A) (1) and (3) are correct (B) (1) and (4) are correct
(1) womib (3) sNwreTEe (1) wpmyb (4) sAwTaTEe
M (3) and (4) are correct (D) (2) and (3) are correct
(3) wHmb (4) sAwTaETEe (2) wpmwb (3) sNwrerema

(E) Answer not known
e QzNweldena

64. Owing to river sinuosity a typical form of settlement is visualized and the
pattern will be
OO ueereyseianmed CompmedssiiLBb @gud minder Qurgleumar euigeubTETS)

(A) Oval pattern (B) Polygonal pattern
Bereul L siepioLiy uOGamen ey
Horse — shoe pattern (D) Amorphous pattern
Gfleng @amby ey 2 (HauwHD P

(E) Answer not known
elen QzNweldane
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65. Match the following and select the correct answer:
Spssamsupey Qurmsd eflurer ellanLemw CsibOsMH.

(a) Administrative town 1. Jodhpur

Hlireuns BaTd Cegmg v
(b) Defence town 2. Jharia
urgsriy BSrb somflum
(¢) Religious town 3. Delhi
DFLDEFTIHS BHSFLD QLeved
(d) Mining town 4. Mathura
&G B&JLD Gl

(@ (b)) (© (@
A) 3 4 2

& 3 1 4

1
2
©) 1 3 4 2
D) 2 1 3 4

(E) Answer not known
e Qg flwelcrena

66. Strullendorf is a type of settlement largely found over
L gReeETLmiTLl eTeim &l gulmiy euend Quilgib srenliubBoug

% Germany (B) France
Qegiroef] Wyreirev
(C) China (D) Japan
e syLILmehr

(E) Answer not known
e Qg Mweldena
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67. What is a common advantage of polygonal pattern settlements?
LOGsment cuigeu @Gy ui(BLgsaien QUTEGUTET BT 6TE) 2

% Efficient land use

Spviurer e 2 uCursbd

(B) Flexible building placement
SLllgL b MDES THIGUTET @)L SHenLIL

(C) Natural growth

QUHEMSWITE GUETTSHED

(D) Absence of traffic congession
Curs@aursg @QLEhse @oame

(E) Answer not known
elenL GsMwelcrene

68. Semi compact settlements are common feature on the

3w H&Sswrer @ uldpuysar Qurgeurs —————— grameibd.
Plateaus (B) Mountains
R[N LOGH VS EIT

(C) Hill slopes (D) Valleys
were Ffleyser LIGTETS S T& & 6T

(E) Answer not known
e QzMweldvenaw
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69. Which of the following criteria is used by census of India 2011 to define

70.

71.

the town?
2011 b B&H @BHU W&EETASTME sETEAsHUIE U, BSTSMS UMTUNES
Qereumbd erhs HAareyGard LweaTLOSSILOEDS ?

(A) Population growth W Population density
Ww&&ET OgTens cueTTFs) Ww&&ET QFTans L THE)
(C) Literacy rate (D) Sex ratio
T(WssMe| ellls0 umeler cHdsD

(E) Answer not known
e Qgflwaeiidene

An open or unbuilt space occupying the Central pldce in a settlement is
called as
2 G9Cuppsdar @ww QLsms s TBIg T Apbs AD®F HLLLIULTS GLID

(A) Elongated pattern M Hallow pattern
Herorer ey ufGeu@® ey
(C) L shaped pattern (D) Oval pattern
‘L euigeu ety Bateul L iy

(E) Answer not known
Mev Ggfwelweme

Which of the following country is not over populated?
QemaupeuareudIET whser Astas WVIGhETTE BrE 52

(A) India ## Canada
@BHwT SQTLT

(C) Bangladesh (D) Japan
eusGsEL syLILITeNT

(E) Answer not known
MenL Qsflwelcrene
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72. Assertion [A] : Migration involves crossing over of the boundary of an

administrative unit.

sapm [A] : QLuQuuie aarug Hifeurs admomus stamgs Qsbems
GN&EADg.
Reason [R]: Migration takes place within the national boundary of a
country, it is termed as internal migration.
smyewrd [R] : Ceflu  ao@mas@a  peoLQupb  @LuQuuiey 2 eTETLE
- @uu@uuwiiey erertiu@ib.
(A) [A] is true but [R] is false

(B)

(©)

(E)

[A] sf; [R] seum

Both [A] and [R] are true; and [R] is the correct explanation of [A]
[A] wppw [R] @remGio af; [R] sfwrer [A] Wen eflengamELh.

[A] is false, [R] is true

[A] seugy; [R] &M

Both [A] and [R] are true; but [R] is not the correct explanation of
[A]

[A] wppw [R] @ren@n sf); e [R] eemug [A] QGer sflwmen

AT&HEH LDV,

Answer not known
efleL GsNweldene

73. As of 2021, the decennial census of India has been conducted
times.

2021 b Yarlh Hloauriuy, LssTaETH5EHsS R BoLCumb @QbSHwwsser
dsnrensds sansQe@y —— POD BLSSLILL(HiaTerg.

(A)

)
(E)

Geography

14 B) 15
16 D) 17

Answer not known
denL Qs Nweldeney
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74. The first attempt to obtain the size of population in India is

75.

76.

aiGung @pdureded wsar sdld wasAsT@s updlu  yerall  elleurmser

CeaflsasiulLg?
(A) 194142 (B) 1947 — 50
@’ 1867-172 (D) 1885 — 1890

(E) Answer not known
e Gsflwaldwena

The states recorded the lowest decadal growth rate of population according

to the 2011 census 1s
2011 b MRS WLE&HASTMS HETEASHUIETLY LSS TR 6 cueriigSlufler Bl&s

" GdpHS Adssms ahs Lo udal dFlgeTeTs).

¥ Nagaland (B) Kerala
BISTOMHI) Gaiyerm

(C) Tamilnadu (D) Himachal Pradesh
SWIPHBT(H @urgsa ArCsebd

(E) Answer not known
MeL Gzsflwefdene

Which continent is the most sparsely populated?
e G@paurar e Cgrems Camam s b wrg?

W Australia (B) Europe
< evdCredllwm aGrruum

(C) North America (D) South America
oL QwlssT Qgern 2@whssT

(E) Answer not known
Mev GOz flweidene
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77. Find the low urbanized countries from the given below:
&G Ger@ssuul peareupler @mbs GODHS B&TLWLISH BrHismar GMUAE@.
I.  Arjentina, Sili and Brazil
2AT@gemg e, el whmibd 19CFHe
Il. Japan, Malaysia, Mangoliya and Turkey
guumer, wCoadlwum, LRGsTSWT LHMIL & mHES
ITI. Nigeria, Sudan and Zambia
@pflur, @Lrer wHmib gmdGur
IV. Cambodia, Nizar, Uganda and Kenya

sLEUTQWIT, BT, 2 STaERTLT whHnb Cgerwim

(A) TIonly correct (B) II only correct
I o @ sfwrearg IT o Ew slwurearg
(C) III only correct M IV only correct
III v Ew sAwrearg IV o @ sflurearg

(E) Answer not known
eflen QgMweldena
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78.

79.

An Amorphous pattern settlement is characterised by the following
statement.

augeuHp ey Gyulwdysaiar uaryser EC AsTOEsLLLGETeT ShSSIs6Ten
epd PGS

(A) A building arrangement is a linear fashion along transportation
routes
Curs@eursg fissLmselle ahmd slgLrsd BaCsri@ Si@wide
D OBFIETTS)

(B) Buildings clustered closely around a central point such as market

place
@igteug speng Cumemn (W&dw) eww @Lmismer FHOQID (HLigl BEET
G sresriiu@lenper)

M A dispers.ed arrangement of buildings across a wide area without a
specific pattern
@ssmau GyUnuded Gruiguyse dsdls sramuubdaper Qsbstear @b
GSHOAC L 2 meud Goemosd Guflu Siereiled < rismiGs sraniiu@&lenner
(D) A concentic circle layout with buildings radiating outward from a

central core
@WLLSHS HHS UL L aUgeUDIar Sligl A@LULKD GLligl Bis@aT &Hi WwsSw
eowwl YereNu@elmpbg Qeuefliiypons semwbg)eTerg)

(E) Answer not known
e Qgflwelcrene

The Central Water Transport Corporation authority (CIWTC) constituted
in the year ————— and it has its headquarters at .
@sdurellan wiHu B CUTEGUTSE p@eRTLID (CIWTC) ——— @
HpeutiulLgl. DASET FODBETD ———— - JADDHFIETETS).
(A) 1975, New Delhi (B) 1969, Mumbai

1975, Hly, @Leed 1969, (U
¢ 1967, Kolkata (D) 1977, Varanasi

1967, QamosssT 1977, eumyewrmél

(E) Answer not known
e Qsfwaelcrene
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80. The Airport Authority of India (AAI) constituted in the year
@bdw eflwrer Flepws peaTUD 2 (HEUTESLILIL L e

(A) 7 dJanuary 1992
7 smaeufl 1992
(C) 11 September 1991

11 Qeuiwur 1991

Answer not known
elen Gsflwelerene

(E)

81.

}Bf 1 April 1995

1 gugé 1995

(D) 7 August 1989

T <ysev. 1989

Match the inland water ways given by the National Waterways of India:

Qpdu Csdlw freud gepurd QsrRssuUrL 2 arpm Bireu s’ Cué@eurss

ssaud UTNGSS.

Stretch

Bligssliul L ety

Allahabad — Haldia Stretch 1.

DOSTUTS — QDTG UIT GUG
Beir gryid

(a)

(b) Kakinada — Puducherry 2.
sr&Sprir — ygsGsa

(¢) Sadiya — Dhubri 3.
gmqwim — g

(d) Talcher — Dhamra 4.

LTeO&T — GLdym

@ b (©
A 2 3 1

& 3 1 4
©C) 4 2 3

D) 1 4 2

(E) Answer not known
elen QsMwelerene

(d)

Lo DN W

Geography 50

Distance in k.m
Iy &..8

1995 k.m

1995 4.8
585 k.m
585 &.15

1620 k.m
1620 &.08

891 k.m
891 &.48



82.

83.

The values of the Human Development Index range from

waflg eueri&d GOl ger wHiuTarg —————— Y GL.
(A) 0-100 (B) 1-10
g 0-1 (D) 1-100

(E) Answer not known
clenL GsMlwelcrene

The first railway line in India from Mumbai to Thane was opened on 1853
and extended to —————— in 1854.

@bdwumelled  wser sl  QurgwsseErssts  @uuild CursGeaursg
wpweoukdmhg srameilbhg 1853 b yar®h Hpssiuc@ 1854 b ar®H

auany BlyssriulLg.

(A) Khandala # Kalyan
SEHOTL_TELIT &6V TGB0T

(C) Khopoli (D) Pune
SUIGumed Ger

(E) Answer not known
dlen Qgflwaeldvene
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84. Match the following:

Yetreu(meuareuhenm Qum(hss)s:

Port
SODYPSD
(a) Marmago
wrrorGssm
(b) Haldia
QM TEDIg Wi T
(¢) Paradwip
Ui ed L
(d) Kandla

STeTL_e0m

@ b @© @

@ 2 1 3

#» 3 4 2

© 4 3 1
M 1 2 4

(E) Answer not known
cllenL Qgflwalcrena

4
1
2
3

Location
Sl LD
Bhuj

S8
Odisha
Quam

Goa
Gameum
Huglh
ar9&a

85. The Government of India announced New Agricultural Policy on
@pdHwu spflen 4w Geuarmanr GQsmaTansamw Melss WISWD, <&@TH

(A) 18 August 1999
18 &6v([H 1999

(C) 14 January 2003
14 ganeulfl 2003

(E) Answer not known
e Qg flweldena

Geography
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(B) 27 July 2001
27 eg®ene 2001

@7 25 July 2000
25 gg9ena 2000



86. The first hydro — electric plant in India was commissioned in 1898 at
@pdwurellan s Bidar Hlaownd 1898 & 6@ HlpeuiulLg?

(A) Mettur (B) Sivasamudram
CuL @ HougpsHid
Darjeeling (D) None of the above
Lmirgdledlras Cuhandwg erglldene

(E) Answer not known
e Gsfwaeldwere

87. The catchment area of Indus river in India is:
@pdurefier Apgl pHufan Brudqiy LGS

(A) 121, 284 sq.km (B) 221, 284 sq.km
121, 284 5.8.8 221, 284 &.8..8

@( 321, 284 sq.km (D) 421, 284 sq.km
321, 284 5.8.8 421, 284 5.4..85

(E) Answer not known
e Qgfweldena
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88. Arrange the following iron — ore in descending order of metal content and
select the correct answer using the given below list:
Gamraum @@y srgeller o Cors  odaLsssdmar  @oris, Gurﬂm&uﬂ@
aflawsiu@ss, ECp Osr@ssuul e leugmseller @mbs sflurer udmas
Caiib0s(H&sa]b.

(I) Haematite
CamwenrL L
(II) Limonite

SCwrenerL_

(III) Magnetite

LDIF&ETEn L L
(IV) Siderite

eyl
A 1 Imr 1v II
1 I I Iv
© I 1 I 1v
D) I 1 IV 11

(E) Answer not known
ellen QgNweldena

89. The length of Industrial corridor in between Chennai to Bangalore
Ggeremar (pse Qunisenmes GaLCuwarer Ggm@nCur e ulen Barid

(A) 476 k.m & 560 k.m
476 &)..8. 560 4..8.
(C) 547k.m (D) 586 k.m
547 &..8. 586 &.15.

(E) Answer not known
e GgNweldency

Geography 54



90. Match the following:
sflung QuTBSSHS:

(a)

(b)

(©

(d)

(A)
(B)

List I (Industries)
utgwe I (Qsmfperenasar)

(@ () ()
2 1 4
1 4 3

# 3 2 4

D) 4 3 2

(E)

Petrochemical Industry
QuirGyrelw @yamuwier
QsmApesrene
Metallurgical Industry
2 Carsellwed Qsmfhsreane

Electronic and information
technology industry -
Weeram WHMHID SSH6UED
Qsmfle U Agmfhsrene
Engineering, food processing
and Chemical Industry
Qurdl@we, 2 eyl
ugsLu(HSSID WwHMID
Qurewer Agmfhareney

(d)
3

2
1
1

Answer not known

e Qgflweleoena

55

List II (Places)
ulgwe IT (@Lrsan)

. Mumbai and Pune

puml wHobd LG

. Chota Nagpur and West Bengal

CemLm préLT wHmIb
Cuh@ eumismeTd

. Gulf of Cambay

CabGu euemar@Lm

. Bengaluru

(Ol L1 &5 6615
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91. Which of the following statement is correct about Jute Industry?

FTD

4

(B)

(©

(D)

(E)

Qzmihereels updlu Gereumd smpmseid erg sflurerg ?

The first jute mill in India was established at Rishra.

@bdwureiler (psed Famrdd e Meprrailed Hlmeuriul L g).

The impact of first world war was affected the development of Jute
Industry.

Wso 2 sl Guriler grés game Csmflediamer LTSS

At the time of Partition in 1947 India’s Production of Jute Products
was high.

1947 g @ Wlllmandear Curg @bHurelen samredr QumpLsafer
2 pussl Afswrs QB . . .
Purina, Kathihar are the main centres having jute mills in
Uttarpradesh.

e, sdapmir gdwumen 25870 GArGsssdld o drar gared Yy enavsatien
WSS SLWEISETTELD.

Answer not known
e Qsfwaeldvene

92. As per 2005 data, the share of Tamilnadu has a total forest area
SWIPHMLIg6 2005 yetaflelleuriiug srhisafler Quwrss Lkis,

4
©

()

Geography

21482 sqkm (B) 21546 sqkm
21482 5.4..8. 21546 5.41..85.
21742 sqkm (D) 21642 sqkm
21742 s.4).15. 21642 5.8.15.

Answer not known
cllenL Qgfweilcrene
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93. Nilgiri Tahr is the animal of ———— State.

94.

W
(©)

(E)

wrhlosder elenig Bodf grant o@D

Tamilnadu (B) Telangana
SBIPHT(H QzmsrerT
Tripura (D) Sikkim
Sflygm 3L %310

Answer not known
e Qgflwalcrend

The mangrove forest cover in Tamilnadu is largely found in

sORBT e sHUUlos sThad <fs emelld  ehg LreLLgEd ureis
sreTLIL(Hernes ’ ’ ) :
W Cuddalore (B) Ramanathapuram

SLQT JTWOBTSLJLD
(C) Nagapattinam (D) Thoothukudi

BI&LIUL 1g QTLD GNESI5S\g
(E) Answer not known |

fen Qgfweidenc
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95. Match correctly the Sanctuaries and established year
FIETTEWIMRIS@HL-6T SeneU FleumsUUL L. amgmer QuUTbHHgs

(a) Mudumalai Sanctuary 1. 1962
WL HMk@GSET FraTmewD 1962
(b) Kalakkadu Sanctuary 2. 1967
SeTHST(H cHemIGSET FrapTmewD 1967
(¢) Mundanthurai Sanctuary 3. 1976
warLbgeon loni@gsd sgjamrown 1976
(d) Kodiakkarai Sanctuary 4. 1940
Gemqwssey clom@ser srammown 1940

@ b © @
M) 4 3 1
B 4 1 2
© 1 2 3
M 3 2 1

(E) Answer not known
elenL Qgflwaeferene

I L A
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96. Match the given National Parks with their respective States:

Qasr@ssrur_Heter Csdlu yhsréssmer bsbs LMflomsEsLe uThsgs.

National Parks
Caélwu yrhisnéser

(a) Van Vihar National Park 1.

euren edlamit CaHlw LrisT

() Sanjay Gandhi National Park 2.

sepel anhd Caélu yhsr

(¢ Nandan Kanan National Park 3.

Bhsen sraren Caflu yhsn

(d) Ranthambore National Park 4.

gengCumi Csélw yrism

@ b © @
Aa 1 2 3 4
& 1 2 4 3
©C) 4 3 2 1
M 4 3 1 2

(E) Answer not known
e Qgflwelcrencw

59

States

LTHlREISET
Madhya Pradesh
wsHw 1ArGseb
Maharastra

OGS TTESI 7T
Rajasthan

@ rreevgmer
Odisha

. Qe
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97. Match some of the important glaciers of the Karakoram and the

Himalayas:

Quuwmauid o et sTICsTSH® 2 6ter ualurmsmerts QurmESeyLb:
Main Glaciers Location
Grsrer uaflwry S L6AlL_Lb

(a) Rupal 1. Korakoram
eHLIGL &ryGsmyb

(b) Baltora 2.  Sikkim
weGLmym §&4d

(¢) Zemu 3. Kashmir
Qeqp smagpli

(d) Gangotri - 4. Uttarkhand
&rGars 2 SHlyamesr_

@ ® (© (@
@A 2 1 3 4
& 3 1 2 4
C) 4 3 1 2
D) 1 2 3 4

(E) Answer not known
TenL AsfNwelérene
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98. Match the following:
Speumeuareupenn QuUT(HSis:

List I — River List II — Length
ulgwe I — ymiser utgwe II — Berwd
(a) Krishna 1. 420 km
&) (meig e 420 &.18
(b) Godavari 2. 885km
Cangmeufl 885 4.5
(¢) Mahanadi 3. 1465 km
Ww&THS 1465 4.8
(d) Brahmani . 4. 1290 km
Qyrwenf 1290 4.5

@ b (© @
Yr4 3 2 1
B 3 2 1 4
© 2 1 4 3
™ 1 2 3 4

(E) Answer not known
clen Qgfwelcrene

99. The soil derived from the Deccan trap is fertile with high moisture holding

capacity and is popularly known as
gseran SLyule odter wifls FruugD SThIGD Fpenr QsTEmL eueTTear e
@dueumn SemwssiLbhng

y ‘regur’ or black cotton soil (B) alluvial soils

fair Sideg smHUY UmHSS e GUEBITLG) LDGHT
(C) sand soil (D) silt soil
LOGRTE) LD GHT HI&HQ DG

(E) Answer not known
e QsMweldend
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100.Mt. Everest, the highest peak of the world is situated in which of the
following ranges of Himalayas?
2 wdler WBls o wrwrar ereu@revl wee @uuwmeuldar ahs weows QgTLfd
SMLDHGIGTETE)

(A) The Siwalik Range
feuredls werSLSTL T

(B) The Lower Himalayas
&1 @uwweme

¢ The Great Himalayas (or) Himadris
Quilw @gerand @wwiweame () @ursf

- (D) Indhukush Range
QbgiGey g

(E) Answer not known
e QgfMweferene
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101.Assertion [A] : The eastern ghats are not a continuous range of

mountains.
" inorend [A] : HsEs QsTLisdl wawsd GsTLidlurar WaOSESTLTGamha
Reason [R]: Most of the peninsular rivers are east flowing that drain
into Bay of Bengal.
sryewrd [R] : Quepburerar Sushu pHedr HpsE CrTEHL uTUBg eukGTET
cflgLraled cugdlemmen.
(A) [A]is true but [R] is false
[A] sf gpemmed [R] seumy.
M Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpmw [R] @ran®Cw sf wpmw [R] ererug [A] ér sflwrer elergsnd
(C) [A] 1s false, [R] 1s true
[A] seumy <pemed [R] &l
(D) Both [A] and [R] are true, but [R] is not the correct explanation of
[A] '
[A] wpmn [R] @ran®Cw &M <yeammed [R] eremugy [A] e sflwner eflerésae
(E) Answer not known

clen @Az Mwelcrena
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102.Assertion [A] : The western ghats are, on average, several thousands
higher than the Eastern Ghats.

sapm [A] : grreflung, CuH@sQsruisd wowsd, dpsegs Asmiss
LOEHMET 4L U UITHRISEHES 2 WITHSmeU.

Reason [R] : The eastern ghats are much younger mountains.

sryemrd [R] : fs@s QamLiéd vaws s EETEMLWITE MMSET Y GLW.

(A) [A] 1s true but [R] is false
[A] &Ml emmed [R] seum.
W Both [A] and [R] are true and [R] is the correct explanation of [A]
[A] wpmib [R] @rar@Cw M womib [R] ererug [A] Wer sfwnear edergasin
(C) [A] is false but [R] is true ' '
[A] seuy <yammed [R] &

(D) Both [A] and [R] are true but [R] is not the correct explanation of
[A]

[A] wpmgd [R] @ran@Co sfl <ame [R] erenug [A] ofen sfwmar
MerEswee

(E) Answer not known
cllenL Qs flweleena

Geography 64 -



103.Match the following rivers from their place of origin:
QarHé&suul L QMs®mEr Sig 2 (heumn@h GLsgiLear QurBrsss.

(a) Manas 1. Mt. Japov
LD GGV sEumGy Wene
(b) Barak 2. Naga Hills
(W) BI&T LDV
(¢) Rangit 3. Tibet
yeTells Feug
(d) Dhansiri 4. Sikkim
gemadi H&Hb

@ ® © @
Y’ 3 1 4

2
B) 4 3 2 1
© 1 2 3 4
D) 2 4 13

(E) Answer not known
MevL QgRlwaeleenc
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104.Arrange the following peaks of the Peninsular India in a descending order
of height and select the correct answer using the code given below:

Suspu @pdureler Geaeumh Harmselar o wrsHoar @ouGeufas wswrs
aflosuubss, ECp Qsr@ssuul@erer ufdsmar LLHUHSSH siwurer uHome
Caiib0sH&sHeab.
(1) Aroyakonda

<2, CrmuQgrerLm
(2) Dewodimunda

19.GeumigpedrL_im
(3) Mahendragiri

wCahHrdl

(4) Nimgiri
BbAf

A) 1,234 #1243
© 2,8,4,1 D) 2,3,1, 4

(E) Answer not known
efler QgMweledreme
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105.Match List I with List IT and select the correct answer using the code
given below:

uigwe [ opogw utgwue I ghuaupop £Cp Qsr@sstul@erer uddsemeny
vweruBsd eflurs QuTmHSSs.

List I (Mountain Pass) List IT (State)
ulywe I (weesamreumiser) utiqwé II (wrhew)
(a) Bum La 1. Sikkim
Yy eom EAEY: 3 0
(b) Khardung La 2. Jammu and Kashmir
SMTLB e e LHMID HTeigdi
(¢) Nathu La 3. Himachal Pradesh
B&l T ) @uwrsa YrGssbd
(d) Shipki La 4. Arunachal Pradesh
U8 eom Simannee ArGgehd

(@ ® (© @
@A 2 1 4 3
B 2 4 3
C 4 2 3

&+ 2 1

(E) Answer not known
Mev Qg flwaelcrene

Qo o
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106.Arrange the following mountain ranges from North to South and select the
correct answer using the code given below:

awLsAmbg  GshE  wswrs Gt  @LASTLIS®E  RUEEGUOHSS,
&Gy Asrhssuul Getarans twaTuBSS slwrer ufews CsibAsHEsayLb.
(1) Karakoram Range
smrGamyb (eew) Qem
(2) Ladakh Range
oLTE Qgmi
(3) Pir — Panjal Range
Siugrsed Qs
(4) Zaskar Range

gmavs Qg

Aa 1 2 3 4
B 2 1 4 3
© 2 1 3 4
& 1 2 4 3

(E) Answer not known
e GzNweldrene
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107.Arrange the following soils in descending order of area and select the
correct answer using the answer given below:

Gereumb waraflar urtQmens Qstar®G @pme@ euflosown vweau®sd, ECw
Qer@ssuul_pHeaeraupder sflwrar udlae CsibbshH&se]|b.

(1) Alluvial Soil
GUETITL_6) LDGBIT
(2) Black (Regur) Soil

Sflged e

" (3) Desert Soil

UITene) LD 63T

(4) Red Soil

Q&b et
A 1 2 3 4
@1 4 2 3
C) 1 2 4 3
M 1 4 3 2

(E) Answer not known
aller Qgflwaeleene
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108.Find out the correct statement with regard to the Indian Peninsular
Plateau:

@rdHw Sushu Lyl GNss sfwrer cursdwrisamen s

I.  Chota Nagpur Plateau is a major water divide from where many
streams originate.
Gemiom préyr Suyll ue FCrmevLser (capmse) e mean@n e Gufly
Brudfeum@ib.

II. Much area of Maharashtra Plateau is underlaying by basaltic rocks
that have been formed by the lava that was ejected through fissure
eruption.

Loa;rrlyrraqatq.urr GLlELLﬂuSiGirr QuBb LGS, Qeﬂm quulﬁlmn@.ﬁmaﬂGmmmuuLL.
QTEUTESHETTE) 2 (HEUMTERT UMFDIGSH LTDSATTE) ENLOhS)GTETS .

III. Karnataka Plateau is largely composed of Archean Quartites.
siprLer Lyl Qumeurfluns gyisdue, @il osl setméd < ars)

IV. Meghalaya Plateau is highly dissected deep valleys and is covered by

forest.
Cuareowur SLyl 8ls pwrer udagTé@saraibd sTOSMIEID Hbduererg)
Y landIl (B) II and III
I wpmd 1T IT whmw IIT
(C) IIIandIV (D) I and IV
III whmw IV I opgw IV

(E) Answer not known
cllenL QgMweNerene
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109.The winter period in India is

@pdHwreiler GeflTgamen Hleoeb T

(A) From middle of the March to May
wri§ wsHumBEH G euer

M From middle to the December to March middle
g&buT LsHUANBHES LITE LEHULGE ey

(C) From June to September
796 (s L bul cueny

(D) From October to December
S&CLIUT (WPSD gFDUT GuenTy

(E) Answer not known -
e QgMwelerenc

110.Match the following type: Drainage Pattern with River:
Geieu(mHDd BAWLGT Falqul aUgETD el tumbigs.

(a) Antecedent Pattern 1. Ganga system and South Indian Rivers

erdsd wpevm shims sewly wHnb Csarallbiu pHeer
(b) Dendritic Pattern 2. Indus, Sutlej, Brahmaputra
Quenfgs wpeom g, e Qag, Grbwysdyr
(c) Radial Pattern 3. Rivers in the folded areas of
Singhblaum
AfleuerLBs (pem Aratienfen whS LGSHSHatlen pmseT
(d) Trellis Pattern 4. Son, Mahanadi and Narmada
GN&G ABmESTS gmet, WETHS WHMID BHTOST
Qeaid perm

(@ G (@© (@
A 4 3 2
@) 3 2 1
C 2 3 1

2 1 4

(E) Answer not known
elenL Qgflwelcrene

Lo B
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111.Which one of the following is not correctly matched?
Spaam_eupmier arg eflwnear QuImSSLID®® ?
(A) Palghat — Kerala — Tamilnadu
ureésth — Gayerm — sUPHETEH
(B) Thalghat — Nashik — Mumbai
STO&T — Brélé — ey
(C) Goranghat — Udaipur — Rajasthan
Camyensm. — o guiyiT — JrgevgTer
M Bhorghat — Srinagar — Kargil
Curism — BBsT — sridd

(E) " Answer not known
eden Gsflweerene

112.The division of Himalayas which lies between Sutlej and Kali rivers is

known as
slOogh wHpb stell YnsErsE @QeLGuurer @uowomenGiey @eueummy
S@P&ESEULHHDG).
(A) Kashmir Himalayas (B) Himachal Himalayas
sreuli @ wwieame ablorFged @uwieea
W Kumaun Himalayas (D) Central Himalayas
(SLOMeY 6 @ Weme wHSHw @ wwime

(E) Answer not known
ellen QgNweldrenen
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113.Match correctly the Koppen’s Principle:
CaruQuen Qardrens sflwrs QummSsis:

(a) Megatherms 1. Summer cool and short and winter colder
QuaTQgTbaeT CarenL @aflit LHMID GmAW GafTsmed
(b) Xerophytes 2. Moderate heat and moderate amount of
moisture
BSCrmenLIL_6iv Bgrer Geutiub WwHOID WFLTer FFUUSD
(¢) Mesotherms 3. Aridity and high temperature
BCer@sibser aupl 8 wHmib SHs Geutiublene
(d) Microtherms 4. High temperature and abundant supply of
moisture
&GS TS <fls Qautiuflena wHMID & FFULSLD

@ ® © @
a1 4 3 2
® 3 2 1 4
$r4s 3 2 1
M 2 4 3 1

(E) Answer not known
MenL Qzflwelcrenc
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114.Which one of the following statement is not correct?
Swparamib Fmpmseid ergy seupTeang) ?

(A) Af=Tropical rainforest

Af = sluanvearLe wewssTHs6
(B) Am = Tropical monsoon

Am = guuenbaETL® UmeusTH)
(C) Aw = Tropical savana

Aw = yuerwarLe seurent

M Ab = Hot deserts

Ab = Qeuiu urepeeUGTD

(E) Answer not known
eflen Qgflwaldene
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115.Which of the following is incorrectly paired?

Qeeu(meuaneupded eTgl eupns @earssliul(HeTerg)

Climatic Types Distribution
srafleow auasiun® LIFeued
(1) Bshw —  Western Rajasthan and Punjab
Bshw Guh @ @rrRevgTer WHYID LEHST
(1) As —  Coromandal coast of Tamilnadu
As slpssSar Campuam o sLHS®T
(111) Dfe - Ganga pleiin and eastern Réjasthan
Dfc shmaisn@elal LHMIb HsE QrrRevgTer
(v) Cwg — Arunachal Pradesh
Cwg Simarésels 9gGCseD
(A) (i) and (i1) only M (ii1) and (iv) only
(1) wpmw (11) wED (ii1) wpmib (V) wLED
(C) (i) and (iv) only (D) (i) and (iii) only
(1) wppd Av) L Ed (i) wpmd (11) weEo

(E) Answer not known
Mev Gzflwaldere
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116.Based on Koppen’s climatic classification, which of the following is

incorrectly paired?
Geruuafler sraflae eumsiiur.( <igruemude, Geieu(meuaTeUDMIGT 6TE SEUDITE

QummssLLL(HeTerg) ?

(A) Tropical Savanna — Peninsular India
WS FOUTETT GUMNS Sushu @BHwm

(B) Semi Arid Steppe — East Rajasthan
S®T uPTL QLN cuens Sp&E TrRELSTET

(C) Meso Thermal type — Gangetic Plain
BlgQeutiu sre Hlenew shmas Fwblouef

M Tropical Moist . — Himachal Pradesh
Sjwer FILUS eUes @ursge YgCseb

(E) Answer not known
efler QgMwelérena

Geography 76



117.Choose the right matches:

silwurer Qurpsssams Qsfley Calis:

(1) Boreal Climate - E climate
Ly sTeblane E sraflane
(i1) Middle latitude wet climate — A climate
wsHw L eCrans my sTbla A sroflere
(ii1) Polar climate - F climate
glHeu sreflane F srewflena
(iv) Tropical humid climate - D climate
SIS ERTL® FF] Sreblene D sroflene
(A) (ii) and (ii1) are correct (B) (i) and (i1) are correct
(i) whmw (111) sflwurear ellenL (1) wpmyw (1) sNwrer edlepL
M (1) and (i11) are correct (D) (ii) and (iv) are correct
(1) wHmw (111) sfwrer elenL (11) wpmw 1v) eflurer eleL

(E) Answer not knowns
e Qsflwelcrenew
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118.Assertion [A] : Hurricane unable to develop within 5° of the equator.

gapm [A] : ywsdwu Crensuler 5° s@er an&Caen 2 meurs i wg

Reason [R] : Coriolis force at its maximum at the equator.

sryemrd [R] : ywssuGrense Carfluraday clams Sifswrs @ meEwD

(A) Both [A] and [R] are true and [R] is a correct explanation
of [A]
[A] wppw [R] @reweo i, wopw [R] aarug [A] Qe sflwrer

AT&HSLOM(GLD

(B) Both [A] and [R] are the true; but [R] is not a correct explanation of
[A]
[Al wopw [R] @ran@w efl,” gpama [R] ererug [A] @ear sflwurar elatésiod
<B{6LG6V

W [A] is true but [R] is false
[A] &fl gyeme [R] seuprang
(D) [A] is false but [R] is true
[A] seupreng <permed [R] &

(E) Answer not known
eflen Qs flweldaran

119.———— are the causes of most winter rainfall across northwest India.

auLGupe @pHureild Gelisrasdd uraueTear we Qumlelhgs
&ryeTons elarmi@ sl er.

(A) Norwesters Western disturbances
oL Cuh@&é snHmser Cuh @ Fevanmiger

(C) South West monsoon (D) North East Monsoon
GgenGuh@ LmeussTH) UL SWPEGL LBEUSSTHY

(E) Answer not known
e QzfMweldene
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120.Assertion : The greater wind velocity produces more powerful waves.

grorerd  :  fsuugurer  sthdler fwsCausd Ws Quilu  sL@mOsmeT
2 (HeUT&GFH ).

Reason : (1) Large waves (over 5m high) are generated only in stormy
conditions.

STERTLD : e QuAw Si@ase (5 B8 2 wrb) qud eisw Curg 2 (heurdmg)

(i) These occur regularly in the temperate cyclonic storm in
North Atlantic and Pacific, especially in roaring forties
zone in Southern Hemisphere.
@5 Qurgaurs e Sl ramgd wHmb el us9s Saily Lyuied
aSab smamiseia Hewd GALLTE “sigdé@n prpug’ Lwee
Curg QsarGsrargdler Qugieuns sreTUILL Salqw B -
(A) Both Assertion and Reason are incorrect
&irorerd wHHI STFeTD @raThHb Seum
(B) Reason for the Assertion is not sufficient
Erwrangdharear sryemd sfleur NerssLiuL_eléane
M Both are correct
@urar@Hw sflurearg
(D) Assertion is false, Reason 1s true
&irwonand geugy sryeRTd silureig

(E) Answer not known
M Gsflweidene
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121.The type of cloud with patches of small white flakes arranged in small
groups or wave like form is known as
fpfly  Cesdlivsermseyd, sl Lrseyd weamd @l Gurery euflesursebd
srewrliLbhib Gusid;

W Cirro — Cumulus (B) Cirro — Stratus
EDmisSH e EhmiiveL

(C) Alto — Stratus (D) Alto — Cumulus
o wirLenL o wirdlyen

(E) Answer not known
allenL Qg flwelerena

‘122.The name of .the cloud that ha.s these character.istics:
QAsrRssuULL GamTHausAnE abs oums Cusnd AUITEmLEID
(a) Heavy and dense cloud
SILIBS sanss Cusid
(b) Associated with heavy rainfall
ST 6T QgTLiyemLuwig)
(¢) Obstructs the sun
GNwear weaps@ELh

(d) Thunder storms are common
QuuyLer wep HHsD STERTOMD

(A) Cumulus (B) Cirrus
Slyer Cusb Evm Cusbd

M Cumulo Nimbus (D) Cirro Stratus
snidper Cusb Enmit uewL Gs&ib

(E) Answer not known
cilen QgMwelerenc
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123.The cloud Atlas was presented in the following one of the year
SpsarL @ aumLhisaild Cusmsd oilwa GeuefliliuucLg

A) 1906 (B) 1886
@ 189 (D) 1901

(E) Answer not known
eflen Qgflweidena

124.At low elevation which among the following clouds are to be found?
£Cy Qsrhssuiu@erer Cushasaie grpe wrkhsed srariubeg g ?

(A) Cirrus (B) Nimbus
-Epm Cwsbd - - &mit GsLd
Cumulus (D) Stratus
Syer Cosib ueL Cu&w

(E) Answer not known
MevL Gsflwaeidwere

125.0ut of the given winds, find out the one that not belongs to cold winds;
8Cp Qar@ssuLL@ear sassmpnseler  ag, GaligasaTdbld QummbS O

2 _eTeng)

(A) Mistral (B) Purga
WG ymed yiram

M Harmattan (D) Laventer
QI MITLOL_ L6037 QITEUESTLIT

(E) Answer not known
e Qzflwaelcrend
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126.Which of the following statement about Polar Easterly winds is not true?
SHou S&&s sThmiseT upHu Weteumb smppsald ag o aman @dema ?

(A) Polar winds are very cold
gmeu srpm Baseyw @eflyrang

ﬁ{ Polar winds do not blow very long distances
smau smHm Ble B girn eiseuddame

(C) Polar winds are stable
glmeu sMHm Hlevewrerg

(D) Precipitation is in the form of snow
werputumfey ueafl eugeller 2 ererg

(E) Answer not known
ellenL QgMwaeNerene

127.Chinook winds raise the temp by to within few minutes.
fans sws sthder Qeuiufmeowurarg Ho MO isain O (BHg
ssurgerabL_Ls wrmdng,
(A) 15— 20°F #7730 — 40°F
15 - 20° sunpemari 30 — 40° sunerai
(C) 35-40°F (D) 12 - 14°F
35 — 40° sunpenardi 12 — 14° sunperafi

(E) Answer not known
ellenL QgsMwelerency
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128.The parallel lines drawn on maps joining the places of equal temperature

is called
¢Cr &rmen Qauufloe Heoeb GLisma GamarsEh QamasCarbhsd Geoumy
S&sLLBSng
(A) Temperature gradient (B) Isobar
Qeutiugsfley sLI(P555 CambHser
(C) Isohiyt M Isotherms
gwweps CarHser sleuiug Garhser
(E) Answer not known
MevL Gzsflweldene
129.The atmospheric pressure at sea level is ———— per square centimetre.
sL& i LS auefll AT (Pssh 1 60880 BESG ereueuetay
A) 998 gm #1034 gm
(C) 1014 gm (D) 1114 gm
(E) Answer not known

v Qg flweidene

130.Sunspots change in number and position in a regular manner, known as:
G&Nws smbLeTallse sang ramafsamaudaid, i@welLsdaibd popurear afluieo
wrHPé Qerdreuger Guwir.

(A)

©)

(E)

Sunspot Rotation ﬂ( Sunspot Cycles
GMwiyered sHHISD &Nwiyerefll spHé
Sunspot Circulation (D) Sunspot Revolution
GMwiiyeredl euebeuHSED GMwuyered sas®

Answer not known
MeL Gzsflueldeme
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131.Sub tropical high pressure belts where the air is completely dry and winds

are calm are known as
Wi WSS gGoa wer waTLe uGHud, sthmp Vs epETHb, WS

SADWEWTHED 2 6T6T LGS T HHlwL@Ib
M Horse latitudes (B) Doldrums
GHMT SL_FhGET MW ETLWLD
(C) Polar Easterlies (D) North Westerlies
SI(Heus SRS SThHmIseT L Guh@s sTHmsEr

(E) Answer not known
edlenL Qgflueferene

132.The amount of heat need to raise the femperature of one gram of a
substances by 1°C is called

@6 dunmafler @ Hymb Qauiuflooamw 1° KdN Qsomdwey 2 withg GCaeameuwnear

Qeutiugden ieTeneu aTaTm AMPSHCHTLD.

W Specific heat (B) Laterent heat
&MU L Qeutium 2 @rEpenm Geuliuth

(C) Sensible heat (D) Inversion of heat
2 aniglmemndés Qeuriuib Geutiu seadp Hmuub

(E) Answer not known
elenL QgsMweldenay
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133.The 3t thermally direct cell operates between which Latitudes in the

Northern Hemisphere

L ajCstarsded aps 2ls Crassarh@ GoLuld 3-egy Qeiu Cprg Ged

Qewou@dng.

(A) 30° and 90° Latitudes
30° whmb 90° sisCrens

(C) 30° and 60° Latitudes
30° vpmb 60° 2 sCGrens

(E) Answer not known
- e GsNweldene

134.Full form of GCM
Hlerd — & 1 elaTdsd

(A) Global Climate Model

2 w8 sTwflaa wrgf

M Global Computer Model
2 @& sanflaf wrdlfl

(E) Answer not known
Aev Qs fluaidwene

(3( 60° and 90° Latitudes
60° wHmd 90° 2 sCrens

(D) 60° and 65° Latitudes
60° wHmib 65° o _sCGrens

(B) Geographical Computer Model
el wed sarflaf wrS

(D) Geographical Climate Model
yedWwe sraoblee wrd

135.The traditional mode of horizontal transport of heat and angular

momentum was modified by

Qautiub wHmn Carem e phssdar el Curs@arsdar urguflu pepenw

WwrHH HDDSSEUIT.

(A) V.P. Starr and R.M. White
V.P. evimit wpmid R.M. qui

W A. Defant and H. Jeffreys

A. qQuan wpmw H. Qgufey

(C) R.G.Barry and R.J. Chorley (D) V.P. Starr and H. Jeffreys

R.G. sumf wpmb R.J. smiGe

(E) Answer not known
enL Qgflwelcrend

V.P. evni wpmid H.Qeguifev
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136.The total solar radiation reaching a horizontal surface on the ground is

called
SlenL ol L yelluugulenar  eubgseLwyb GMws sflieiser  @cueummy

SIDWESILHEDG.

(A) Heat budget M Global radiation
abl. Ul QgL &Cerrued Crig Cuiageir

(C) Terrestrial radiation (D) Photosphere
Qupevfwe CrgCuaser GumGLmevQuir

(E) Answer not known
edlen Gzsflwedenen

137.State which of the following are true about atmdsphere?
auaflam wgmst uhPl e meuaremHnle oTg 2 @I et GDIULAE 2

(a) Multi layered gaseous envelope
Lo 3(h&@G&6T Qamart eumyy 2 apm

(b) Itis attached to the earth by electrostatic force
Qg Bdearaflena elengwimed LyOujL_eir Qeemssiul (Herers).

(c) Height of Atmosphere ranges from 10 to 25 km thousand kilometer

from the sea level.
L6 LLLSHO(BHg 10-25 &.15 cueny auafloerrgdler 2 wgh 2 drerg).

(d) There is mutual interaction between the components of the
atmosphere and biotic components of the Biosphere.
Qa1 aefloam wgder spser whmib 2 Wii&Caratsder 2 U9Nwed snmsEnssE
QoL lerer urevLy QAFTLY @b,

(A) (b) and (d) (B) (d) and (c)
(b) wpgiw (d) (d) wpgiw (c)

M (a) and (d) (D) (b) and (c)
(a) Lo (d) (b) wpmid> (c)

(E) Answer not known
edlen QgMNwelcrene
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138.The upper limit of the troposphere is called
Qeutiuiomy weTLgHar Gud Wb G APWRsEsUUREDS.

(A) Stratosphere (B) Mesosphere
evl_Crr_GLmev@uwir QuCamaviQwir

M Tropopause (D) Thermosphere
L CrruGuruimeiy QgrGumeviGwi

(E) Answer not known
e Qgfwelcrene

139.The gas law describes the relationships among air pressure, volume of gas
and its density called as . . _
STHDPSSD, eumuyedlen sjatay WHMID g6 SILTEd pAuaupdpe Qe Cuwimer
QsrLiysemer QgmuiyeLwsg ereamy Gerdeouuc(eTerg ? Meuflg@n  sTHm

Hullem Quuii

(A) Lussac's Gas Law M Boyle’s Gas Law
arersedlen eumyy N4l umellen cumyy c4lg)

(C) Combined Gas Law (D) Charle’s Gas Law
Qearssiul L eaumy 6dg sriadlen eury cilgl

(E) Answer not known
Mer QgfNweldana
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140.Match the following:
Yemeu(meuameupenn QUM mEg)s:

Natural Surfaces Albedo
Qupes LFLILSET afl adQyrefsSHmen
(a) Fresh snow 1. 0.80-0.95
yg uefl 0.80-0.95
(b) Sandy soil 2. 0.35-0.45
LD GRTEL 0.35-0.45
(c) Meadows 3. 0.15-0.25
yebGeuefger 0.15-0.25
(d) Coniferous forest 4. 0.10-0.15
saflllevesd sTH&ET 0.10-0.15

(@ b @ @
@ 1 4 3
B 4 3 2
1 2 3
® 4 1 2

(E) Answer not known
elen GzsMwedrenew

W s~ = DN

141.Which of the following scheme has been initiated by UNESCO?
Werreupeuaraupmist UNESCO-aurer par@ar@ésiini L &L TG ?

(A) Zoological Park (B) National Park
Memflud yhsr Casflwu yrusm
Biosphere Reserve (D) Bird Sanctuary
2 WTCamer &MLILGLD UDENE FTERTTeOWILD

(E) Answer not known
elen QgfNweldana
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142.Which among the following is NOT the endangered animal of India?
Gemeu(meuaeupmier erg @bHwreller iflbg euBL Gard S ?

(A)

©

(E)

Snow leopard M Chital
uails fmsms S| &8 LOme
Blackbuck (D) Red stag
Ljebeuml &euli wmedr

Answer not known
erL Qgflwefdena

143.The Environment (Protection) Act of India was enacted in
BBHU FEHNESLD (LTFSTIL) FLLD aThs W@ GuopuulL g

(A)
(©)
()

1996 & 1986

2001 (D) 1978

Answer not known
e QsMwelcrenc

144.The forest which is known as selva is
Qadeurm eTaT HMWSSILHID STLTETZ)

(A)

©)

(E)

Deciduous Forest M Equatorial Forest
@aaudli sr ywsdw Crens sl
Coniferous Forest (D) Thorn Forest
ocarflldemad SmH wLryst s

Answer not known
e Qgfweldena
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145.The name of boreal forest comes from the word.

Boreal forest erem Qeme Qumfluier QmpHg QuDUILIL LS.
¢0 Latin (B) Greek

QasSen HCyssb
(C) Arabic (D) French

STy 9QyEhe

(E) Answer not known
edlenL Qzsflweldrena

146. Assertion [A] : Part of India that experiences the highest diurnal
. range of temperature is Thar desert.

Sirwremd [A] : s afs darsfll Qeutu eSsflomar adiQamearend @bHwi
UGS ST LUTEMOEURTD < E)Lb.

Reason [R]: Desert soil gets heated up quickly during day and
cooled up very-quickly at nights.

smyewtd [R] : ureeeiar war usald Geuswrs Qeutiuwrd, @reled Ceuswors
Gaflgen_fpgy.

(A) [A] is true But [R] is false.
[A] #fl oyemmed [R] soumy
W Both [A] and [R] are true and [R] is the correct explanation of A.
[A] womw [R] @ran@Cuw & womid [R] ererugy [A] e sflwuner efarssio.
(C) [A] is false, [R] is true.
[A] seumy <parmed [R] &M

(D) Both [A] and [R] are true, but [R] is not the correct explanation of
[A]

[A] wppw [R] @ran@Gu sfl <enred [R] eerug [A] @er sflwnar

OT&H & LDV
(E) Answer not known
elen GsMNwelcwane
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147.Match the following:

Qurmsss
Biomes
2 Wifler @peumdi b
(a) Tundra
gy
(b) Taiga
ML &IT
(¢) Mediterranean
WSHW SDTESLD
(d) Steppe
@9
(@ (@) (©
A 4 3 2
3B) . 3 4 1
4 3 1
D) 3 4 2

Vegetation

STGURI&ET

1. Chaparral
FLUILIT6

2. Grasses
yeQeueflaer

3. Conifers
oarfluflened LOJHIGET

4. Mosses and Lichen
UTSla6T WHMID EMESHE.

(d)

1

2

2

1

(E) Answer not known
Mev Qs flwaeilderen

148.Flowering plants are called a
LUEGD STeUTRGET eTan Siepssliublanpar.

W phanerogams

(©)

(E)

urQerGyr&mbaer

cryophytes
SHeorCGumenu_ev

Answer not known
e GsMwelcrenew

(B) cyptogams
SN CLrsmbgeT

(D) trophophyte

CQproCGumenu_sv
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149.Who was the first to identify the spatial variation in organism and their
different group in different part of the world.
2 uiflary ugeud wHMIL eupler QeucuGeoum LGHSET WHND ST @LD TS
Caupiuri_enL serLdpbseu

(A) George Foster Buffon
SOMiTeh LImavL T Uo ol TG

(C) Augustin de Candole (D) Alexander Von Homboldt
UGV 6T lg STAHTGLTED SQesavenmaTLii eurer anbGuUTL

(E) Answer not known
edlen GgMNwelerenen

150.Toothless whale is genera'lly called as
vaaldarg Hllkdon Geaurm Smpssiu@ing.

(A) Sperm whales (B) Cow boys
ev@Quirtd Ceued Qaer Lmy

% Baleen whale (D) Sea mammals
ueler Geued ‘& Gubloeveiv

(E) Answer not known
eflenL QgfNweldena

151.Find out the Incorrect pair from the following

EDESHRT_cuPMmIET SeunTean @) enamman ST 191y

(A) Podzol soil —  Sub Arctic Region
ur_Gamed Legor Sl 2 T&6 GI(Heull LGS
(B) Prairie soil —  Sub Humid Climate Region
WQrwM wedr g rrorer sroblamol 95Gssn
(C) Rendols —  Moist Climate Region
QyamGLméev Fruug sreobleaeulyCssnd
Ultisol —  Temperate Climate Region
2_cgCamed g deutiu srafleme KNrGssw

(E) Answer not known
elen QgMNwelecraney
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152. Assertion [A] : The process of Laterization occurs in the tropics. Under
high temperatures regimes and high rainfall in the
tropics.

o mfsQemed [A] : ColraiCsagen Qewdpep Qautiu waTLwsdHe Hepdng.
Qeutinear_emsalld xfls Geuuubloe wHHL s WL

Qumfledler Curg Hlapdng.
Reason [R]: Al and Fe liberated during alumino-silicate breakdown.
smpend [R] 1 oigufiCarm fa0&Cs pdelenr Curg sigllelud wHmb @by
sng alhelssiubhSHng.
(A) [A] is true but [R] is false.
[A] &l eyammed [R] seum
M Both [A] and [R] are true, and [R] is the correct explanation of [A].
[A] vomw [R] el wpmw [R] ereug [A] elp@iu sfwrer elersswm@w
(C) [A]is false [R] is true
[A] saumi [R] &

(D) Both [A] and [R] are true but [R] 1s not the correct explanation of
[A].

[A] vomiw [R] efl emmed [R] eremug [A] ep@iu efwrer elersswde.
(E) Answer not known

ellenL Qg flwalereney

153.The term ecology was first coined by
Galwed eremm GFmerened (PSeND 2 (Heumddlweuir

Ernst Haeckel (B) St. George Jackson

erirerevl Caméaa Qeullem gymitsy eomégen
(C) Charles Darwin (D) M.I. Dunbar

gmireven Lmirellen M.I. Cerrunm

(E) Answer not known
e Qgflwalldene
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154.Nature organisms live together as a natural group affecting each others
life in general ways, such a group of organisms is known as

Qupers o wWilamsdr @m @UbHMmss GUWeuTs QaTDIE uMhg @aTGnTH ey
aumpeasowul ue aflsale urdsdamer, ssmaw o wWfamsefler @uw @eueummy

SDRSESULHH DG
M Community (B) Autecology
FePSLD L (eTHTOE) Gl
(C) Synecology (D) Population Ecology
fle (Tamea)) Gpeilwd D&EHETOSTENS @G P6dlied

(E) Answer not known
cden GsMwefcrene

155.In 1980 who stated that “Eco system is the sum of all natural organisms
and substances within an area and it can be viewed as a basic example of
an open system in physical geography”?
1980 1D SYLETIGD, “‘GHMIFGLHD TaTUG @ LGS @&er @@5@(0 DTS Qubens
o Wifleraiser LHML P& msatien a'su_@g, Qg,rrema;u_lrr@m Cogid @i Qumﬁ;g,

yeldWweled @m Hops @wUdaT SUUSL THRSFSTL LIS UMissIULOmD”
T smsms sfalsseurr.

(A) P.Haggett (B) E.P.Odum
9.Cama ©.9.¢L1b

(C) R.L.Lindeman M C.C.Park
9116760 Sl T CL_Goer &.8.urid

(E) Answer not known
cllenL Qgflweicreney
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156.The plants which prepare their own food are called
g,mé;@g,g,rrC%LD 2 mIenaUsS g,u_nrrrﬂé;@Lb STEUIRISET

(A) Heterotrophs M Autotrophs
Qanr Gym_Gymiie <L CLm_Crmiev

(C) Saprophytes (D) Parasites
gmGrmenuL_e UMTTE&FL_GL

(E) Answer not known
er QsMwelcrene

157.Representation of total amount of energy used at each trophic level per
unit area and per unit time is known as .
a6 wall Corsdnen, o6 Wl uEHseh a@anm wimds wLLSHUID,
LWeTUHSSILEL DD SeTeeus GHILILG

(A) Food Chain (B) Ecological Pyramid
o _awre§ midled Galwd Csmygb

({ Energy Pyramid (D) Trophic Level
<Hoe Camyrd oerl L_@UeT WL_L D

(E) Answer not known
e Gsflwaeldere

158.Which of the following constitutes the second tropic level of the food chain?
Qeneupeuameupdled erg 2 aweys srddludar  @reammeug) Cemueou  WLLLEDS

Qe e (HeTeng) ?

(A) Omnivores (B) Carnivores
<3/ 6D T G| GHT Gt &5 6iT wrdle o areani&er
Herbivores (D) Autotrophs
smeuy 2 aprenflEer < G Crruser

(E) Answer not known
enL Qzflwalcrenc
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159.The term Ecosystem was first used by

FHDEFSGHPD ALY e Cemdeme wger wpseild LweauBhSHwueui
LS.

(A) Kenneday (B) Linderman
QsenarGL et Guesr
Tansley (D) Charley
Lmeren©ev &mied)

(E) Answer not known
cllenL QsMwelerenen

160.Match the following Biosphere with their Ecosystems.
Wereumd 2wl Careréans ieumdler EHNIFSHLD A®WLULSEHLET (uT(HESayLb.

(a) Biotic components 1. Hetrotrophic organism

2 WNwWe smmsar Gougiu L 2 19 Qurper
(b) Abiotic components2. Micro-organisms
2 ullgHD Fmmiser 5] 6ot g Sl it
(c) Consumers 3. Organic components
BI&TGeumt 2 _ull i1 go.m) &6
(d) Decomposers 4. Inorganic components
Slen g oy &er 2 ullgHo Fmmser

@ ® (© (@

@A 3 1 2
& 3 4 1
€ 4 3 2
® 2 1 3

(E) Answer not known
eflen QgMweldene

[ SR N
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161.What is the primary goal of India’s National geospatial policies
@pdwrefenr Coflw yeliugeud Qsmatensseflen wpgemeno @aéE, erere ?

(A)

(B)

©)

(E)

Regulating air traffic control system

RPEGUOSHL lwrar CursEeursg sLHUTL(h Sy
Ensuring accurate weather forecaste

gloalwwrear euraiae pararleiiomu e ms deige
Managing telecommunications and Networks
QsrewsAsTLiy wHnib eumoGeaaraa Hlifeudssd
Regulating acquisition and use of geospatial data.

yed ureud srajsme @asWSIURSSSD WLHHID LWeTUHSSISD < Flweuhenm
POEEUOSHED : : :

Answer not known
een QzfNweldane

162.Survey of India established in the year.
@BEHW SeTeuMie] Thg A&TH HpeuiulLg.

(A) 1945 (B) 1878
W7 1767 (D) 1902
(E) Answer not known

clenL Qgflwelerenen

163.GLONASS is a satellite based on radio system which provides the
positioning and timing information based on
&Cemmanmav ererug CrgCun oo @l el gioalwwrer el GLsosud
Crrsesub sraude QeupasGere, @g Wereaumb Sl riuemLuieneang.

(A)

(©)

(E)

Attenuation @( Trilateration
< HDed Hentlay _ Wp&Cararil S
Traversing (D) Intersection
s QgmLiy GUEIGA LI
Answer not known

lenL Qgflweicenc
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164. Which of the following statements are true about vector overlay.

QeusLir Cue®s@ Y weld Qurmsswraeupan Csib0sHESeW.

(1) Classification and merge operations are possible in vector overlay.
deasLit Cuo@sdd amsudsgzsd wLHNL aPoassd QsuduTHEE
&ngH WD mME@LD.

(11) The locations or all objects stored using points and area.

yeraflser  wpmd  QeulGsmer uwaLRSH S@@HE  Ued  eysar
CaflssriuBHng.

(ii1) Relational query is an important concept in vector overlay Analysis.
GeausLit Cua®sE LuGuUTLeld Qamiy elaeud aarug WsHu smSSTELD.

(A) (@) only : (B) (1) and (i1) only
(1) v @b (1), (1) bW

(C) () and (iii) only (p{(ii) and (ii1) only
(1), (111) v @b (11), (1i1) oL@

(E) Answer not known
edlen QsMweldrenew
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165.Which of the following is true about TIN?

I
IL.
I1I.

Flat areas have fense and small triangles.
Area with steep slopes have a very few and large triangles.

XY and Z values are the inputs of TIN.

Wemeumeuaneupmier TIN @dsg eflunangns o eterg) g2

I

II.

I1I.

A).

(E)

sloLwurer Hovuugdsdar fs adaraflsostgn Aflu psCarammaamenn
Q& meiTig (& @Lb.

Qerigssrar sfley QstaL HolugHser Gophs darafisastigin Gufu
p&ECaTamEiGameTL D C&Taiy (HéELD.

X, Y wpmid Z wduysear TIN- he Camaiu®n 2 drefiserm@b.

I only . (B) II only

I we o II b @w

I1I only (D) I and II only

III we @w I whmd IT wGw

Answer not known
Mev Gsfwaeidwene

166.Which of the following is not a GIS component?
GereumeuareudMed erg LeRudwich S50 AMLINGT SoDIsEHET QRETD SO ?

W Capturing coordinate data

(B)

©

D)

(E)

RHEH ML STeU SeUTeM

The presence of the processor with sufficient power to run the

software.
Quer@ureer @wés Curgiorer s&d QerarL Gewe @BUUg)

Sufficient memory for the storage of large volumes of data.

Quilw aredarer sreysmar CsllliugnE Cungiorer Hlameaeushd

Data input and output devices.
srey 2 dreaf® wHmbd Qeuallit () sTgambsar

Answer not known
e QgMweldena
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167.Radio waves are used for Satellite Communication are measured at the

wave length of
QswpersCamer  gaeud  uflbmhpsHed  vweu@w  CryCun  @eseer

Sabaroreang
(A) 1lcm (B) 30 m
1 Qs.8 30 8
(C) 0.1cm #7 30cm
0.1 Qs.8 30 Q.8

(E) Answer not known
clenL Qgflweerene

168.Earth Resources Technology Satellite (ERTS) was launched on
yleuar Agmflomtu QeunamasGsaner gauliul L Herbd

July 23, 1972 (B) July 23, 1975
S 23, 1972 sSenav 23, 1975

(C) December 23, 1972 (D) December 23, 1975
g&bui 23, 1972 gabur 23, 1975

(E) Answer not known
eler QgMwedena

169.Which of the following step is not a part in the supervised image
classification procedure?
QGareumn  aps  Hoeowrarg  Gupurimediour L QsupasCser udlo
auensLLm () Cewdapepullen m LES i ?

(A) Training stage (B) Classification stage
LWlHA Hleve aueslIUT®H Hlene
M Image rectification (D) Ouput stage
uglo Frenwliy Qeuaflui® Hlenew

(E) Answer not known
edlen QgMwelrene
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170.Which among the following is/are the remote sensing system which
measure energy that is naturally available?
GemeumeuameupmIeT g /eTanel  QgTaawarisd ewldar gefl  sereiBsefle,

@Qubes geaflerw Qumidlermen?
(1) Passive Remote Sensing
Qewenn QFTenau|emTige
(i) Active Remote Sensing
Qewdpen QzrenewamTiged
(i11) Refractive Remote Sensing
pafeliesd Ggrameu|aisd
(iv) Massive Remote Sensing
e CgTenauaRTige
(1) only
(1) v
(C) (@) and (i1) only
(1) womiw (1) WL

(E) Answer not known
Mo QgRlweldene

(B) (ii) and (iii) only

(11) wpmb (111) wLHb

(D) (@) and (iv) only

(1) oo (1v) wLEHWL

171.The expansion of RBV is Remote Sensing

Qsreewyarisdd RBV-ear slfleursso
(A) Radar Beam Velocity

groni sHevp HagGeusid

(C) Red Beam Vision

ALy sHevn UMTene

(E) Answer not known
enL. Qzflwaeldens
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(B) Radiometric Band Vision

CrigCum siemaser Guarl umieney

Return Beam Vidicon
Ao gal spep
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172.The projection suited for mapping the middle latitude areas of limited
latitudinal and larger longitudinal extent.
wHHL  DlsTbEsHd G@pautar LsCras ufumLyb AHs Siss Cresl
uramewb desrar. ugdamer sramiss Qurmsswrar Caml (& sU_Lib

W Conical projection with one standard parallel
2@ L S eCreavss smbys Carl(Hi& L Lb

(B) Conical projection with two standard parallel
Qm S o sCreavss sabys GamHF FU_Lib

(C) Bonnes projection
umreevy Caml_(HéEsL_Lb

(D) Cylindrical projection

2 (meend Caml(HFsL L b

(E) Answer not known
eflen QzMweledena

173.The projection often used to represent continents like Europe, North
America and Australia.

gGrmaur, el @ufdsr whmb  <evdCradwn Curerp sam_msmens @Nés
vweTuhib Caml(H&sr Lib;

M Bonne’s projection (B) Gall’s projection
urenev CaTl_(H& sU_Lib srev Carl & sl_Lib
(C) Cylindrical projection (D) Polyconic projection
2 menerd Caml (D& gL b uegabys Caml(Hé sl_Lib

(E) Answer not known
eMerL Qgflweldena
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174.Which of the following map shows the relief in detail and often at the cost

of other details?
Qemeu@pd  yeluuLrmigefled  ergy  wHD  eurmsmears  sTLgQb  HosCsrhm
cSeugrusener allfleuns sT(HEng 2

(A) Atlas maps (B) Thematic maps
L6 LelluuL miser &(HSgGaMey YelluLkiser
(C) Planimetric maps M Hypsometric maps
ugltigeferss LyeUuL mger o Wy edeéds LelluL mger

(E) Answer not known

clenL Qg flwalcrena
175.Gravitational analysis is used for to delineate the _ regions
Y UEGUUmUGY WrCssseans cuamqumss LweTUBSSUUGSDS.
(A) Formal (B) Economic
(PP DwITet Qumperngmy
(C) Cultural M Functional
SOTESTIY Qeweur_{H

(E) Answer not known
clenL Qg flwalerene
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176.Which of the following are incorrectly paired?
YeteumeuameudMIET eTaneu Seupns QuTmSSLILL(HiaTerer ?

1.

(E)

Babinets projection -
urbQeriger Cami@EsiLb —
Sinusoidal projection -
feemiie CamHiFsl L -
Aitoff’s projection —
oCLrH e Carl_(Hiésl L b -
Polyconic projection -

udanibys CamHFsl b —

1 wpmid 4
Answer not known
cllevL QgMweldene

Mollweide

wrGeuws@

Sanson and Flamseed
Frengen LOHMID o ANeTDER
Ferdinand Hassler
SHEumgarmant(h anmeveir
Hammer

@M T

177.0utlet for Indian Ocean in the West is
@pSus QumrisLQis@ Cun@ Crrsdls Qedab eulluns cllar@eug)

(A)

©)

(E)

Palk strait
umé QoFbH
Panama Canal
UGTTLDMT &STeLEU MUl

Answer not known
eden GsMwalcrene

Geography

Suez Canal
GW6L &STeLeUm

(D) Hormuz Strait
QDTG FHS
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178.The Indian Ocean stretching over an area of
@rHwutr QuprisLaler ellfleunssgdler Ly

(A) 53,556,000 sq. km. (B) 63,556,000 sq. km.
¢ 73,556,000 sq. km. (D) 83,556,000 sq. km.

(E) Answer not known
Mer QsNwaelcrene

179.Command Area Development Programme in India was associated with the

utilisation of
@pdHuredar  eerew GyGss Cuwuri® Hird  Geupder pwerumGLm@

QarLiryenLwg
Irrigation system (B) Soil fertility
Birumsen wem LDGHT GUATLD

(C) Hybrid seeds (D) Mechanisation
Siflw 78 ellengser @QuibHTownr&Esd

(E) Answer not known
e Gsfweldene

180.The Blue Revolution in India was started in
Beots Yyl @pdwredier rbssLULL A0

M 1970 (B) 1986

(C) 1994 (D) 1959
(E) Answer not known
e Qsflwelcrenen
105 Geography
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181.Match the following:
Spsam_aupamn Aurmss)s:

Name Landscape
Quuwir Hleooenoliy

(a) Arafura 1. Gulf
SmAuygm GUENEIT(GH LT

(b) Carpentaria 2. Ridge
smiruerGLfwm &eTm

(c) Malacca 3. Sea
LTSS HL6L

(d) Chagos 4. Strait
FnCsmen . Qb

@ b (@@ @
3 1 4 2
B 3 4 1 2
© 1 4 2 3
M 4 1 2 3

(E) Answer not known
ellen QgMwelerena
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182.“The recently enacted project of WDC-PMK SY-2.0's (Watershed
Development Component — Pradhan Mantri Krishi Sinchai Yojana), Major
objectives are ;
Which is/are the objective/s of this WDC-PMK SY-2.0, mentioned below;
“gamewdao Quppuure ‘WDC-PMK SY-2.0" duigdear wsllu Cprésd/
Crrésmser (Bidy L@ euatisd ibsb - Gyger wpHN sMaf Hepemi CuirgerT
2.0”.
SpQsr@sgeaarameseiies ‘WDC-PMK SY-2.0" Aiigdean Cprésn/Cprésmser
eTenou ?
(i) Restoration of the ecological balance by harnessing, conserving and
developing degraded natural resources
sHOIFGWD soflew  wpfrewolbsts, Snfibs Gupws  eeThIs@E
LweaURSS, UTGETSS, euetTédluyn Clese ]
(ii) Prevention of soil erosion, regeneration of natural vegetation rain
water harvesting and recharging the ground water table
wear ofteu sLHUUBSHSD, QuUDsS STUTBISEMET D) 2 Husdl Ceswuisd,
wei Gy wHmIb Hossy bivlLb GshlaLGse
(iii) Promotion of Industries and improving the imbalance in the Regional
Development
QAsmfperaasamer sMsg, ulLmy auaTrESulen gHmSSTRESMET HéESED
(iv) To strength the local community by providing fiscal and financial
incentives for starting Industries to overcome the regional imbalance
QUL gHDSSTLEUSMET S@METH, 2 6TehT &FUpsLD au@uQup, GsmibsTame
QsrLm@GusH@ HE wHHID HdBlera smwimu FgHUbHSHS

(A) (iii) and (iv) only (B) (i1) only
(ii1) wpmyb (1v) LLEWD (11) wr_(Hibd
(C) (@) and (ii1) only M (1) and (i1) only
(1) wpmid (111) WL H (1) wHmb (11) L (Hib

(E) Answer not known
e Qzflwalerenc
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183.About the Tribal Area Development of India. Consider the following
statements and select the correct answer using the codes given below.
Qrdwureien upriggulent ugd Cuwur® upd Gereumbd Hsmasmend &(HSH
Gararh &Cp Qer@ssuuc (e @dluiGsmer vwaLBSS sflurer udaes
Ca OS5 [H &&HeLD.
1. According to the census of India 2011, the total population of the
Scheduled Tribes was 8.3 million.
20114 Yar®h @pEu weseT Qgras sarssEUleTuy UL igwed iUl L
uprGylarfer Quwrss wasd Qgras 8.3 Waoaedwen.
2. The Government of India included 427 communities.
QB SiTe 427 Fepsmsman 2 @TeTL Sl dTarg).
3. The most important tribes of India are Gonds.
Caran( Qeangseur @pHunalen psAu LGy ulear
4. The smallest tribal community is Jarawa.
grreur Bls&fdlu uhiEy Fepsd

(A) 1, 2and 3 are correct (B) 1, 3 and 4 are correct
1, 2 wpmibd 3 &M 1, 3 wHmbd 4 &M

(C) 2,3 and 4 are correct ?{ 1, 2, 3 and 4 are correct
2, 3 wHmib 4 & 1, 2, 3 womb 4 &M

(E) Answer not known
elen Qg flwedena
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184.Which of the following factors has the greatest impact on regional
economic development imbalance?

- Qereumd srraflseile s eulLmy Qurmertsry cueriés ghpssmbeysaies G
srésseos gHUOSSEDS ?
(A) Lack of Labour
Qzmflemert LHDTEGH®D
(B) Lack of Technology
Qgmfleom b @oonsg
W Regional Disparity in Resources

aueriigailed eulLmy Geumium(

(D) Regional Distribution of population
W&&ETESTMHUND UL LFIL LITeUE

(E) Answer not known
enL Qgflwalerene

185.Francois Perroux proposed the growth pole model in the year of

GrraGsr@ey  QuBrméey ———— e eueriFsl  gieu  wrglflenw
et BT

(A) 1965 (B) 1945

g7 1955 (D) 1935

(E) Answer not known
en GsMweldwene
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186.Match the following with appropriate sequences :
Wetreu(meuamaupenm SighH@ 2 Mw euflawslad Qameanss

(a) Urban Rejuvenation -
BaTS@S UGS -
(b) Tribal Area Development —
upri@ruient wperGarhmb -
(c) Operation Flood -
QeuaTar BL G SHans SiLLb -
(d) Narmada Valley Project -
BAWsT B L b -

@& ® ( @

1 4 3 2
B) 2 3 1 4
) 2 1 3 4
D 1 2 3 4

(E) Answer not known
eflenL QgMweldene
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187.Choose the right answer among type :-

Which of the following statements are true about ‘Growth Pole Model’?
sflwrer ellevL/eleLsmer Qarhsgierer cuamsuiadmbg CorbOs®H:-

“cuemitsd) gimeu LTHN -w GNSS Eeudd sapmi/Fepmiseiier erene sMwrameeu ?
(i) Central villages are considered to be the lowest in order
auflensulen seLé Ligwr yrwhsd aOss5é Qararariiu@Senper
(ii) These are 6 hierarchial levels of central places
wsHwu uGdsafld 6 Ly Hlawsdr o derer
(i1i) Growth pole is the highest urban centre
euemitéd g(meud ereugl B&T ewwdden e wilu HleowrEd
(iv) This model is popularly known as, ‘Growth Strategy Theory’
Qs ‘wrHfl’ Guefrrr&éﬂ 2 gdaer A’ eram WL LTS am@a&a&uu@aﬁ]mmgj

M (111) and (i) only (B) (11) and (iv) only
(i11) whmib (1) wLEb (11) wHmib (1v) wLHL
(C) (i1) and (iii) only (D) (1) and (i1) only
(i1) whmb (111) L Hb (1) womb (11) L HD

(E) Answer not known
Mev GgMwelcrene
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188.Which the following is incorrectly paired?
Wereumeuareupdldd Seumns E)eenTéHLILIL L el 6T ?

(Regional planners) (Number of major planning regions
identified for India)
(QyrpHw H L pieureriger) (@bdwu GrrsHu e S LBl
UGS setlen erawrenisans)
1. V. Nath - 13
ol Bs - 13
2. Ashok Mitra - 7
2Cans BHgym - 7
3. Bhat and Rao - 11
" Ul wHmd grey - 11
4. C.S. Chandrasekharan - 15
8. erav. gHrCasyen - 15
(A) 1 and 3 are correct W 1 and 4 are correct
1 wpmd 3 &M 1 wpmid 4 &M
(C) 3 and 4 are correct (D) 2 and 3 are correct
3 wHmb 4 &M 2 vHmd 3 &

(E) Answer not known
elen GsMNweldene

189.All developing countries have instituted such regions encompassing

population.
SOWSG  QET(HD  BFIHSE@L ———  EEET QTS 2 Tl sHw
WprpSurisemer Hmedudrerer.
(A) 1,00,000 7 1,50,000
(C) 2,00,000 (D) 5,00,000

(E) Answer not known
clenL QsMNwelerene
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190.Assertion [A] : Industries are located between the source of one raw

material and the market.

gapm [A] ;@ Asmiipsree epoltiQurmeasailear SiamwelLb LHMIL sHas
@eupdpdlerCu emww gmbHb.

Reason [R] : At any intermediate location, raw materials are
locationally independent.

smyamd [R] D oaps  @QeLfoe QLSIHd  S@weg, apeoliQumLsET
SemwailL s (HUuuTLHog

(A) [A] is true and [R] is false
[A] &M semmed [R] seum
(B) [A] is false but [R] is true
[A] seumy <yamed [R] &
(C) [A]is true but [R] is not a correct explanation
[A] el opamed [R] sfwrear edleréswaen
M Both [A] and [R] are true, [R] is the correct explanation of [A]
[A] wpmod [R] &M, [R] ererugy [A] eQd@Nw sfwrer elaréswomn@gn

(E) Answer not known
e Qgflwaeldene

191.The gravity model of William J. Reilly developed during 1931 mainly to

predict
1931-& Gaveflllic v efloflwnd  Qn.Cpue  eurseller miuy  Garmiumr®
Ep&eHTL @eenn Si@nraisSeanmg.

¢f Migration (B) Population
@LuQuuwirey L&&ET QsTens

(C) Location (D) CBD
QL mwae wsHw euanfls enwd

(E) Answer not known
cllenL Qg flweldena
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192.E. W. Burgess developed his urban landuse model based on the city

E. W. uisev ger par fleou vweaurn ® wrdflleowu @bpsrsoms SigliuamLwunss
Qsrarr(h 2 (Heumsdlermir.

(A) Ottawa (B) Winnipeg
L Lmeum clenaflQus
(C) 'Toronto Chicago
QurmyrerGLm LAY ()

(E) Answer not known
e AsMweiidvenaw

193.————— 1is a statistical technique that reduces .a set of variables by
extracting all their commonalities into a smaller numbers.
—— owrhsefler  Qgr@ueu @Gops@Gh yeraflelleuy mLULTGD. @)
sreysafledl(hbg Simarsg Quirgeinar gearmwamanyd Sflu ereleorer srramflserms

9N505H 5805
(A) Locational theory % Factor analysis
@ uELumey smyentl LEGUUTWEY
(C) Cluster analysis (D) Correlation
GW UGUUT6] 2 Le Qsriy @l (Hney <6

(E) Answer not known
e Qg flwelideane

Geography 114



194.Choose the right answer among type which of the following statement

is/are true about regression analysis?

sRluner eden/elenLsemer Qarhsgdrer cuamaulalmbg Caib0swH ;

‘o Lan@QgmLiy’ ugluuTley GMss Speubhd spmiseie egl/aameu silwmaeme ?

() In a bivariate distribution, there are two regression line because there
are two variables.
@rieL wrhlu ureuee, G wrhser 2 ereTgTed, kG QreaTH oL earbgm iy
Cam(H&6T 2 eTeTe.

(i) Itis a comparison of the difference between the observed results and
the theoretical results.
s en swalssiuull  pyeser  womgd  Csriur®  pyeysafler
Ceaugurhsamar @bhniiuBSgIeuGs < @GWw.

(iii) It 1s the process of calculating the missing or unrecorded observations
from a set of observed values.
Qo  saflu ooy ufe Qeiwry  udesmer  sEIGGL R
QewTESLMELD.

(iv) It is the ‘Line of Best Fit’ in any distribution.
@Qaes gGsaIbd, @@ uraude, Aphs QUTHSS il s 2 deTg).

(A) (i1) and (iv) only M (1) and (iv) only

(i1) wHpmw (1V) wLHW (1) wHmb (1V) WL ED
(C) (i11) and (i) only (D) (i1) and (i) only

(1i1) wHmb (1) LG (11) wHmb (1) LB

(E) Answer not known
e Qgflwalcrena
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195.Select the incorrect location of lakes
gisefler oemwaeilLb - seuprareans CsibOsH&s6ywb.

(A) Ashtamudi Lake - Kerala
VG Ply 6l - Cayerm
(B) Bhimtal Lake - Uttarakhand
Ygmed el - 2 SElrsmeaTL
(C) Khajjar Lake - Himachal Pradesh
&Tit orifl - @ursser 9gCssLd
7 Chilika Lake —  Tamil Nadu
felasm g - SWBIPHM(H

' (E) Answer not known
len Qsflwelcrenew

196.Consider the following statements about the logo of National disaster

management authority.
Csélw CuilLir Guararew ymeaTugdar Serard LbHBlw SnHMSEET <YTTiis

% The outer circle of the logo has hand holding
flanangdlan Gevefleu Lib a1y seer Qsmair(ereng)

(B) The outer circle is circumscribed by the national tricolour
fenanglan Geuafleu Lib Cadlw epeutrammhsarmed QuTHEsiU Hereng

(C) The outer circle is tranquil Blue
flanangdlen Geuafleu L b ianwdwurear faoflpsdd 2 drarg

(D) The outer circle is embossed in Silver
feanangdlen Qeuefleu Lib Qeueraflwimed QuTHssrILL Hatarg

(E) Answer not known
edlen Gz flweerenew

Geography 116



197.Which of the following is incorrectly paired?
SpsaTLeubmieT arg Seupns @ummasiuL HeTerg) ?

M
@)
3)
4
@
&

(E)

IMD — Indian Metrological Department
0.67h. g — @BHW curaiiene 2y iie] ewwb

NFHS — National Fund Health Service
eré.arssl1.Qané.erev — Caflw pabld Caeaneu
SDMA — State Development Monitory Action
6. g .6Th.6 — Whle euerTFd seamamenfllil] enowb
NIC — National Information Centre

arenn.g0.8 — Caélu ss6ue LW

(1) and (3) (B) (1) and (2)

(1) wHmIb (3) (1) woHmId (2)
(2) and (3) (D) (3) and (4)
(2) wHMID (3) (3) wHmILD (4)

Answer not known
cllenL QgMlweildene
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198.‘G—Return’ includes data on
85— SNEMS 2 GTATLEGHD SEEUDSET < eUET.

@)

(11)

(111)

(iv)

(A)

(E)

Geography

Season wise area cultivated

umaed eumrflwmer Lu@fLuc L ugay

Sources of Irrigation
BrUUTFET < GTyhi&eT
Method of pumping
Blleopé@d qpenp
Social indicators
Feps GNSTL I ST

(1) only

(1) b @b

(1), (11) and (iii) only
(1), (1) wHmb (1i1) WL
Answer not known
cllenL GsMweNdrenaw
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(1) wHmyb (1v) LWL
(D) (iv) only

(1v) b @b



199.The Primary function of Census is to provide
w&seT Qgreans sasdasBuier Waeamamw Geudur( eupkiGe6ug)

M Compute vital statistics

(B)

©

D)

(E)

wp&Hw yerefl eeugrusefien samsd®

Compute effective management
vweyérer GuaraTenn sarés(H

Compute financial statistics
Bl yarafeleur samssh

Compute environmental statistics
FHMIFSWO® Lerefl elleur sammss®H

Answer not known
e Qgflwaelldene
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200.Choose the correct answer from the following statement.
Qemreumeuareupmier sflwrer sahery CsiibOsH &S
(1) The data with regard to sex composition are collected by census
organization.

ureller ellflgd Qgriiurer srey wWasET QsTans saMsCsBUY HneuamseTd
Ceafsasiubhdng

(2) The sex ratio is one such attribute of population
ureller eldlsb waser Qgrensullen g m LY

(3) In most of the countries where census counts have been in practice for
quite some time
Quburerar  prhselle wasar Osrws sass@uy SHo LS
BenL(penmulled 2 aTerg

(A) (1) and (2) correct

(1) whmw (2) sfwureg
(B) (1) and (3) correct

(1) whmb (3) sfwrearg
(C) (2) and (3) correct

(2) womw (3) sNwreng
W (1), (2) and (3) correct

(1), (2) vogw (3) sNwrerg

(E) Answer not known
eden @z flweildvena
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